## PROJECT EDUCATE IN AFRICA (PEIA)

President: Katie Nash/ Maria Waweru

Treasurer: Malate-Ann Atajiri

Total

ACTIVITIES	Details
Speaker Chris Bradshaw	Founder of the African Village Libraries project. Has helped set up 319 libaries all over Africa :
	She is covering her own transportation from California
	Stipend
	Cost of printing flyers for the event
Shipping costs	1000 books @ \$750 to our partner school in Swaziland
	Shipping books to the Worldbank for books in DC
Fundraiser	Blank cards at Acme 10/\$1.99
	Potatoes
	Paint 6 paint tubs@\$45 on Amazon
	Cookie dough for 200 cookies @ \$12/pack=32 cookies
	Lemonade= Wylers lemonade
African and Indian Crafts for fundraiser	Reimbursinng Intl students for crafts they got for the fundraise
Graduation and Hell week gifts	Graduation gifts for our seniors and Hellweek gifts for our frost

Email

Phone

Mail-box

knash,mwwaweru

matajiri

267-750-9174

C-223

### AMOUNT REQUESTE AMOUNT RECEIVED

and the US

Free

\$300 \$ 225.00 \$20 \$ 20.00 \$750 675.00 \$200 100.00 \$30 \$ 30.00 \$5 \$ 5.00 \$45 45.00 \$84 \$20 \$ \$300 \$ 300.00 \$200 100.00 \$1,954 \$ 1,500.00

# **Harvest Christian Fellowship**

Contacts:

President: Danielle Pan, dpan@brynmawr.edu, 917-628-7954

Secretary: Treasurer:

EVENT	ITEM	Quantity
Transportation		
3/21 Homeless Outreach	Van Rental	1 day
2/25 Praise Night Screening	Van Rental	1 day
Friday Night Live/Sunday Service	Van Rental	1 day
GCC Winter College Retreat	Van Rental	3 days

### Publicity

Flyers	Item 1
Mailbox Inserts	Item 2
	Item 3
	Item 4

#### Campus Outreach

Food: either Bakesale or Sundae Station	Item 1
Bible Tracts & Journals	Item 2
Raffle/Giveaway Prizes	Item 3
New Bibles for Members who need one	Item 4

### Senior Appreciation

Decorations Gifts

#### SEMESTER TOTAL:

#### Price

#### Total Needed Total Awarded

(1 van x( \$20/day)+(\$1.00/mi) x 22 mi) x 1 trip = \$42.00 (1 van x( \$20/day)+(\$1.00/mi) x 22 mi) x 1 trip = \$42.00 (1 van x( \$20/day)+(\$1.00/mi) x 22 mi) x 7 trips= \$294 (1 van x( \$20/day)+(\$1.00/mi) x 270 mi) x 1 trip = 330		
	\$708.00	624
\$60.00 \$60.00		60 60
	\$120.00	
\$200.00		150
\$175.00		175
\$175.00		175
\$250.00		
	\$800.00	
\$50.00		50
\$150.00		150
	200	

\$1,828.00 1444
-----------------

## Bryn Mawr Mayuri Dance Team

Contacts:

Co-Presidents: Rei Shimizu rshimizu@brynmawr.edu; (856) 776-9561

Mansi Gupta mgupta@brynmawr.edu; (301) 828-5050

Treasurer: Radha Venkatraman rvenkatram@brynmawr.edu; (302) 930-5078 Secretary: Mallimalika Gupta mgupta01@brynmawr.edu; (602) 625-3351

Number of Members: 16

Needs/Activities	Amount Requested	Amount Allocated
Performace Fees		
Registration Fees	\$500	\$500
Food	\$400	\$340
Showcase Decorations	\$200	\$200
Publicity		
Advertisement (Flyers, Table Tents, Posters)	\$100	\$50
Costumes		
Pants	\$200	\$200
Tops	\$200	\$200
Accessories	\$100	\$50
Travel Expenses (For 16)		
Train/Bus/Gas	\$600	\$300
SEMESTER TOTAL:	\$2,300	\$1,840

<sup>\*\*\*</sup>Explanatory Notes on Sheet 2 to describe each category

### **Budget for BMC Athletic Association**

The purpose of the Athletic Association is to unite the athletic community, and to make athletics a more visible, active part of the greater Bryn Mawr community.

### Contact Information:

President: Caroline Heffernan Box C-199 412-401-7785 cheffernan@brynmawr.edu

Treasurer: Miranda Gordon-Zigel Box C-569 410-978-0705 mgordonzig@brynmawr.edu

Vice President: Akua Nyame-Mensah Box C-336 267-357-5722 anyanemens@brynmawr.edu

Secretary: Manya Steinfield Box C-1221 774-249-8857 msteinfield@brynmawr.edu

Public Relations: Gabby Marangell Box C-789 978-578-1556

# gmarangell@brynmawr.edu

Campus-Wide Events	Price Qua	ntity	Total Needed ſota	I Awarded
31st Annual Athletic Association Banquet Recognizes the athletic achievements throughout the academic yes Senior and Special Guest Gifts Dinner Buffet-Remaining amount due from last semester Invitations Centerpieces	ar. 15	80	1,200 1,520.48 30 30	967.62 1520.48 30 30
Vagina Monologues			100	100
Coffee Hour			290	290
Gold Games				
Fosters inter-team cooperation and support.  Prizes	10	5	50	50
National Student-Athlete Day A cookout to celebrate student athletes. Total costs are going to be split with the Athletic Department	7	100	700	100
Service Project 4 Souls, collect used shoes to send to Haiti Earthquake Victims Shipping costs			500	500

Size of Club: Serves approx. 200, 50-60 attend bi-weekly meetings

Total

4,420.48

3588.1

## Athena's Circle

Contacts:

Presidents: Olivia Coplan, ocoplan@bmc, (215)713-6091; Sarah Christian, schristian@bmc, (512)577-768

Secretary: Beth Curtiss, ecurtiss@bmc

Treasurer: Dawn Hathaway, dhathaway@bmc, (860)885-8040

EVENT	ITEM	Quantity	Price	Total Needed
Ostara				\$125
21-Mar-10	Feast		\$100.00	\$100.00
	Soil	1	\$15.00	\$15.00
	Seeds	5	\$2.00	\$10.00
Beltaine				\$215.00
1-May-10	Feast		\$75.00	\$75.00
XXXXX (1)	Flowers			\$120.00
	Flower Tape	2	\$5.00	\$10.00
	Florist Wire	2 2	\$5.00	\$10.00
Philly to explore Pagan shops				\$50.00
TBA	Club Supplies		\$50.00	\$50.00
SEMESTER TOTAL:				\$390.00

Total Awarded

# **Apiary Association**

Contacts:

President: Larken Wright Kennedy, lwrightken@brynmawr.edu, 434.989.5670

Vice President: Hope Fillingim Secretary: Laryssa Hamersky

Treasurer: Briana Bellamy, bbellamy@brynmawr.edu, (925) 300-6574, Box C-1474

EVENT	ITEM	Price
Harvesting & Bee Care (up	odated)	
	Sugar, 5 lb bag	30
	Bees	160
New Hive Equipment	shallow supers	53.8
	frames	41.75
	foundation	35
	classic hooded bee suit	158.8
	hive tool	41.55
	Bee Brush	3.95
	Smoker	26.95
	Deep Frames	8.6
	Deep Foundation	9.5
	TOTAL	560.4

## Total Awarded

\$ 299.95			
\$			
\$ -			
\$ 8.60			
\$ *			
\$ -			
\$ 1			
\$ -			
\$ 35.00			
\$ 41.75			
\$ 53.80			
\$ 160.00			
\$ -			

0

D I	11	141	0	L
Pre-	пеа	ıτn	U	au

Contacts:		-					
President: Lisa Betz, lbetz@brynm	nawr.edu, (616) 706-9399	•	-				
Vice President: Hanna Lee, hlee0		19		700		- 25	
Secretary: Lauren Chan, lchan@brynmawr.edu, (626) 535- 3869							
Treasurer: Elena Brunner, ebrunner@brynmawr.edu, (732)547-8314							
EVENT	ITEM	Quantity	Price	Total Needed	Total Awarded		
Pre-Health Career Information Session							
1/27/2010	Advertisements(@50¢/page)	75	\$0.50	\$37.50	6 - 8	3	
T-shirts for Haiti (selling pre-health t- shirts and all proceeds will be donated to the Haiti Relief fund organized by the Civic Engagement Office and Office of Intercultural Affairs)				total: \$37.50	37.5		
2/5/2010	Dec health tablets (assett)	20	610.04	6000.00	233.2		
2/5/2010	Pre-health t-shirts (small)	20	\$10.94 \$10.94	\$328.20 \$218.80	218.8		
	medium/large	20	\$10.94	total: \$547.00	210.0		
Ice Cream Social	vanilla ice cream (breyer's 1 gallon tub)	1	\$4.75	\$4.75	\$4.75		
3/29/2010	chocolate ice cream (breyer's 1 gallon tub)	1	\$4.75	\$4.75	\$4.75		
	strawberry ice cream (blue bell half gallon)	1	\$3.99	\$3.99	\$3.99		
	sprinkles	1	\$1.99	\$1.99	\$1.99		
	chocolate syrup	1	\$1.99	\$1.99	\$1.99		

	caramel syrup	1	\$1.99	\$1.99	\$1.99		
	cherries	1	\$3.19	\$3.19	\$3.19		
	whip cream	1	\$5.29	\$5.29	\$5.29		
	beverage cups (package of 50)	2	\$2.69	\$5.38	\$5.38		
	Coca-Cola (2-L)	2	\$1.50	\$3.00	\$3.00		V
	Diet Coca-Cola (2-L)	1	\$1.50	\$2.99	\$2.99		
	paper bowls (35 ct.)	1	\$2.99	\$2.99	\$2.99		
	napkins (180 ct.)	1	\$0.99	\$0.99	\$0.99		
	spoons (48 ct.)	1	\$1.29	\$1.29	\$1.29		
				total: \$44.58			
						_	
Semester Total		0.0	1	\$629.08	534.08		
				0.000			
			_	_		_	_

# **Rocky Horror Picture Show Club**

Contacts:

President: Dena Kronfeld, dkronfeld@bmc Secretary: Marge Stack, mstack@bmc

Treasurer: Lena Barnard, Ibarnard@bmc, 360 951-4443

**EVENT** 

ITEM

Quantity Price

Total Needed

Rocky Horror Performance

Date TBA, late April

Film Rights

1 \$450.00

\$450.00

**SEMESTER TOTAL: \$450** 

Total Awarded

360

### VISIONARY BUDGET SPRING 2010

Visonary: The International Studies club is a place for people who are interested in foreign affairs and the world around us. We have hosted documentary nights for the community and hold discussions weekly.

EVENT/ITEM

AMOUNT REQUESTED AMOUNT RECEIVED

Documentary/Professor Panel Discussion about the Developing World

Rights to film	\$100	100
Refreshments	\$100	100

Haiti Relief money- to be used to help the campuswide organization efforts

\$50 0

Co-President: Lauren

Russell

TOTAL \$250 \$200

Visionary meets weekly. There are curently 10 members.

Co-President: Jessica Good Co-President: Anna Mathew

Box C-1309 Box C-283 Box C-731 480-784-7350 908-642-4662 908-500-2136

jgood@brynmawr.edu amathew@brynmawr.edu |russell@brynmawr.edu

## Students for Justice in Palestine

Contacts:

President: Noara Razzak,nrazzak@brynmawr.edu, 610-526-5732 Secretary: Kim Mullane, kmullane@brynmawr.edu, 781-572-8270 Treasurer:Daisy Shetterly, dshetterly@brynmawr.edu, 617-733-9483

EVENT	ITEM	Quantity	Price	Total Needed
Speaker Diana Buttu 5-Ma	Transportation and Hotel r Gift	1	\$300.00 \$30.00	\$330.00
International Justice Week	Poster and Flyer Supplies		\$50.00	\$50.00
Amreeka Movie Screening 25-Feb	Movie Liscensing	1	\$200.00	\$200.00
Vagina Monologues Sponsorsh	ai Sponsoring	1	\$100.00	\$100.00
Dinner Discussion and Movie 17-Apr	Movie Liscensing r Catering Publicity and Posters	1	\$200.00 \$200.00 \$50.00	
SEMESTER TOTAL:				\$1,130.00

Total Awarded

## **COFFEE HOUR**

Contact: Rachel Corey, rcorey@brynmawr.edu, 617.869.2773

Event	Item	Quantity		Price	Total Needed To	tal Awarder
Weekly Coffee Hour	Coffee/Tea		75	2.25/p/p	168.75	168.75
2/19/2010	Bagels	5 dozen		9/dozen	45	45
	Donuts	5 dozen		12/dozen	60	60
	Hot Chocol	lat€	25	1.75/p/p	43.75	43.75
Weekly Coffee Hour	Coffee/Tea	i .	75	2.25/p/p	168.75	168.75
2/26/2010	Bagels	5 dozen	40000	9/dozen	45	45
	Donuts	5 dozen		12/dozen	60	60
	Hot Chocol	late	25	1.75/p/p	43.75	43.75
Weekly Coffee Hour	Coffee/Tea	î.	75	2.25/p/p	168.75	168.75
3/19/2010	Bagels	5 dozen		9/dozen	45	45
	Donuts	5 dozen		12/dozen	60	60
	Hot Chocol	late	25	1.75/p/p	43.75	43.75
Weekly Coffee Hour	Coffee/Tea	1	75	2.25/p/p	168.75	168.75
2/4/2010	Bagels	5 dozen		9/dozen	45	45
	Donuts	5 dozen		12/dozen	60	60
	Hot Chocol	at€	25	1.75/p/p	43.75	43.75
Weekly Coffee Hour	Coffee/Tea	r.	75	2.25/p/p	168.75	168.75
9/4/2010	Bagels	5 dozen		9/dozen	45	45
	Donuts	5 dozen		12/dozen	60	60
	Hot Chocol	ate	25	1.75/p/p	43.75	43.75
Weekly Coffee Hour	Coffee/Tea	Б	75	2.25/p/p	168.75	
4/23/2010	Bagels	5 dozen		9/dozen	45	
	Donuts	5 dozen		12/dozen	60	
	Hot Chocol	at€	25	1.75/p/p	43.75	
SEMESTER TOTAL:					1905	1587.5

## COFFEE HOUR

3.5

i

## **Art Club**

#### Contacts:

Co-Presidents: Anna Lehr Mueser, Amueser@brynmawr.edu, 201-247-5194; Ariel Kay, Aekay@brynmawr.ed vice president: Angela Wang, Aawang@brynmawr.edu, 978-996-3078

Community Outreach Coordinator: Adrienne Webb, Awebb01@brynmawr.edu,412-983-9363

Treasurer: Louisa Foroughi, Lzforoughi@brynmawr.edu, 518-322-9945

EVENT	Item	Components	Quantity
Studio outfitting	Drying Rack	Drying Rack	2
Studio supplies	Restocking	acrylic paints	
	DC-10-7-00-7-00-7-0	silk screen ink	
		printmaking paper	
		decorative paper	
		construction paper	
		embroidery thread	
		glue	
		gold leaf	
		incidentals	
7 Local Arist Series Classes	Paper and Print Making	artist compensation	n/a
	5 weeks	artist transportation	10 trips
		class materials	a/n
	Soft Sculpture	artist compensation	n/a
	6 weeks	artist transportation	11 trips
		class materials	a/n
	Recycled Clothing	artist compensation	n/a
	5 weeks	artist transportation	10 trips
		class materials	a/n
	Jewelry Making	artist compensation	n/a
	5 weeks	artist transportation	10 trips
		class materials	a/n
	Baatik	artist compensation	n/a
	5 weeks	artist transportation	10 trips
		class materials	a/n
	Silkscreen	artist compensation	n/a
	5 weeks	artist transportation	10 trips
		class materials	a/n
	Silkscreen	artist compensation	n/a
	5 weeks	artist transportation	10 trips
		class materials	a/n

Studio Event

One Year Community Art Nigh snacks

color printing

n/a

30

decoration

misc.

Open Mic Night

refreshments

catering

Tea

end of semester

snacks

misc.

Hell Week Alternative confinement

snacks

misc.

SEMESTER TOTAL:

Price Total Needed Total Awarded \$175.00 \$350.00 \$175.00 \$900.00 \$450.00

\$1,000.00	\$1,000.00	\$600.00	
\$200.00	\$200.00	\$75.00	
\$400.00	\$400.00	\$150.00	
\$1,200.00	\$1,200.00	\$720.00	
\$240.00	\$240.00	\$75.00	
\$300.00	\$300.00	\$100.00	
\$1,000.00	\$1,000.00	\$600.00	
\$200.00	\$200.00	\$75.00	
\$200.00	\$200.00	\$50.00	
\$1,000.00	\$1,000.00	\$600.00	
\$200.00	\$200.00	\$75.00	
\$200.00	\$200.00	\$150.00	
\$1,000.00	\$1,000.00	\$600.00	
\$200.00	\$100.00	\$75.00	
\$200.00	\$200.00	\$50.00	
\$1,000.00	\$1,000.00	\$600.00	
\$200.00	\$200.00	\$75.00	
\$400.00	\$400.00	\$150.00	
\$1,000.00	\$1,000.00	\$0.00	
\$200.00	\$200.00	\$0.00	
\$400.00	\$400.00	\$0.00	

\$50.00	\$50.00	\$0.00
\$30.00	\$30.00	\$0.00
\$15.00	\$15.00	\$0.00
\$100.00	\$100.00	\$50.00
\$50.00	\$50.00	\$0.00
\$15.00	\$15.00	\$0.00
	\$12 150 00	\$6 868 75

**Date Submitted:** 

1/29/2010

Name of Club:

Active Minds

Mission:

To raise awarness about mental health issues and wellbeing.

Presidents:

Emily Lovejoy (elovejoy@brynmawr.edu)

Danielle Marinucci (dmarinucci@brynmawr.edu)

Secretary:

Katelyn Kazan (kkazan@brynmawr.edu)

Treasurer:

Maheen Noon (mnoon@brynmawr.edu)

Expenses:

Items:

### Post-Secret Unveling

5" x 8" Unruled White Index Cards, 500/Pack

White Foam Boards, 20" x 30" 3/pack

Snacks

Stawberries

Grapes

Brownie bites

Cheese

Crackers

Sparkling Lemonade

Sub-total

### **National Stress Out Day**

Tie-Dye Materials

Dye

Rubber bands

T-shirts

Paint

Game

Pie tins

Whipped cream

Snacks

Cup-cake mix

Frosting Plates

Napkins

Subtotal

#### Total requested

203-710-0202 330-606-0132 415-272-3242 832-477-7608

## Quantity: Cost per item: Total cost: Total rewarded:

1	\$9.49	\$9.49	\$9.49
3	\$11.29	\$33.87	22.58
5	\$4.00	\$20.00	\$20.00
3	\$3.00	\$9.00	\$9.00
2	\$10.00	\$20.00	\$20.00
2	\$4.00	\$8.00	\$8.00
3	\$2.00	\$6.00	\$6.00
5	\$4.00	\$20.00	\$20.00
		\$126.36	
		ALL YES TO SE	
2	\$20.00	\$40.00	\$40.00
5	\$3.00	\$15.00	\$10.00
30	\$3.00	\$60.00	\$50.00
4	\$2.50	\$10.00	\$10.00
5	\$5.00	\$25.00	\$20.00
6	\$3.50	\$21.00	\$14.00
4	\$3.00	\$12.00	\$12.00
4	\$2.50	\$10.00	\$10.00
4	\$5.00	\$20.00	\$10.00
4	\$3.00	\$12.00	\$12.00
		\$225.00	
		\$351.36	\$303.07

## Video Gamers Club

Contacts:

President: Jillian Barndt jbarndt@brynmawr.edu; (215) 850-3882; C-30 Treasurer: Michelle Beard msbeard@brynmawr.edu; (580) 678-6259; C-32

EVENT	ITEM	Quantity	Price	Total Needed	Total Awarded
Video Games	Guitar Hero 5 (PS2)	1	\$39.99	\$39.99	\$39.99
	Mario and Sonic at the Olympic Games (Wii)	1	\$49.95	\$49.95	49.95
	Mario Party 8 (Wii)	1	\$46.99	\$46.99	0
	Guitar Hero Van Halen	1	\$59.99	\$59.99	0
	Final Fantasy XIII (PS3)	1	\$59.99	\$59.99	59.99
Video Game Accessories	Rock Band Xbox 360 Mics	2	\$19.98	\$39.96	\$19.98
Geek Week	Assorted Cookies	3	\$9.00	\$27.00	\$0.00
Date: April 20, 2010	Drinks	3	\$5.00	\$15.00	0
at Haverford	Paper Napkins	1	\$3.00	\$3.00	0
	Paper Plates	1	\$3.00	\$3.00	0
SEMESTER TOTAL:				\$344.87	\$211.25

# Right to Run

## Contacts:

President: Name, Email, Phone, Box #: Angana Roy, aroy@brynmawr.edu, 781-974-4962, C- 1058

Vice President: Name, Email, Phone: Lea Hane, Ihane@brynmawr.edu, 612-280-1799

Treasurer: Angana Roy, please see above

		tity	Price	Total Needed	Total Awarded
Ice Cream		3	\$5.00		
Cookies		10	\$1.00		
				\$25.00	25
ls					
Bagels		10	\$3.00		
				\$30.00	25
Beverages		3	\$3.00		
Pretzel Box		1	\$11.00	\$20.00	15
Cardstock Packet	ets	2	\$10.00		
Markers Pack		1	\$5.00		
Stamp Set		1	\$10.00		
				\$25.00	15
Registration	5		\$50.00	\$250.00	200
\$350.0	10				
	Cookies  Bagels  Beverages Pretzel Box  Cardstock Packe Markers Pack Stamp Set  Registration	Cookies  Is  Bagels  Beverages Pretzel Box  Cardstock Packets Markers Pack Stamp Set	Cookies 10  Is Bagels 10  Beverages 3 Pretzel Box 1  Cardstock Packets 2 Markers Pack 1 Stamp Set 1  Registration 5	Cookies 10 \$1.00  Is Bagels 10 \$3.00  Beverages 3 \$3.00  Pretzel Box 1 \$11.00  Cardstock Packets 2 \$10.00  Markers Pack 1 \$5.00  Stamp Set 1 \$10.00  Registration 5 \$50.00	Cookies 10 \$1.00 \$25.00 \$25.00 \$18 Bagels 10 \$3.00 \$30.00

280

## Bryn Mawr College Shakespeare Performance Troupe

Co-Coordinators: Kathy Dilliplane kdilliplan@brynmawr.edu (215)595-6427

> Madi Houff mhouff@brynmawr.edu (302)379-9574

Treasurer: Rachel Goddard rgoddard@brynmawr.edu (610) 526-5758

Much Ado About Nothing Contacts: Director: Becky Findlay rfindlay@brynmawr.edu

(401) 225-0724

Assistant Directors: Jen Cook jbcook@brynmawr.edu (919)452-9378

> Danielle DiCicero ddicicero@brynmawr.edu (907)350-8995

Stage Manager: Jess Marztall jmarztall@brynmawr.edu (717)490-0878

Technical Director: Olivia Coplan ocoplac@brynmawr.edu (215)713-6091

Much Ado About Nothing	Quantity	<b>Amount Budgeted</b>	<b>Amount Received</b>
Lumber		\$50	25
Plastic Potted Plants	2 x \$60	\$120	120
Gaffers' Tape and Glow Tape		\$125.00	125
Color Gels		\$75	50
Supplies (Batteries etc.)		\$30	30
Paper Lanterns		\$30	30

Costumes	\$250.00	170
Make-up	\$75.00	50
Semester Total:	\$755	600

## **FACTS Tutoring Program**

### Spring 2010 Budget

Rachel Tillison- Student Coordinator rtillison@brynmawr.edu Box C-1314

Opu Bhattacharyya- Student Coordinator abhattacha@brynmawr.edu

#### Set Up

Criminal Records and Child Abuse Records (\$20/person x 25 people)

SUBTOTAL: \$500.00 awarded 0 General Meetings

Certificates of Program Completion: (\$4.99 per pack x 2)

SUBTOTAL: \$9.98 awarded 9.98

#### Supplies

School Supplies SUBTOTAL: \$80.00 awarded 80

Total for Program: \$589.98 total award 470

## Hepburn's Closet Spring 2010 Budget

Pamela Burt, Editor pburt@brynmawr.edu Eri Koike, Treasurer ekoike@brynmawr.edu

Readership: 400 people

Official Staff Members: 20 people

SEPTA R5 Roundtrip Tickets (\$8.25x10 people)

Name of Event	Amount Budgeted
Fashion Show	
Decorations	
Balloons (3 bags x \$5)	\$15
2 White Sheets	\$20
Christmas Lights	\$15
SUBTOTAL	\$50
Food and Beverages	
Utensils (Forks, Spoons, Knives)	\$30
Cookies, Pretzels, Chips, etc. (6 bags x \$5)	\$30
Drinks (Sparkling Cider and Soda) (6 bottles x \$5)	\$30
Napkins	\$10
SUBTOTAL	\$100
Publicity	
Poster Board (10 boards x \$3)	\$30
Construction Paper Packs (5 packs x \$4) (Mailbox Stuffers)	\$20
SUBTOTAL	\$50
Miscellaneous Items	
Makeup Products (5 items x \$5)	\$25
Hair Products (5 items x \$5)	\$25
Gifts for Performers and Makeup Artists (20 items x \$5)	\$100
SUBTOTAL	\$150
Transportation (for Clothes Fitting in Philadelphia)	
SEPTA R5 Roundtrip Tickets (\$8.25x10 people)	\$82.50
Gas Money (for Trips into Philadelphia)	\$20.00
SUBTOTAL	\$102.50

\$82.50

## Amount Received

25

25

100

82.5 20

SUBTOTAL	\$82.50		
Props for Magazine Photoshoots			
Flowers, Balloons, Streamers	\$20		
SUBTOTAL	\$20		
Miscellaneous Items			
Hair Products (5 items x \$5)	\$25		
SUBTOTAL	\$25		
TOTAL FOR SEMESTER	\$580		

# Ink Slingers

Contacts:

President: Chantal Deaton, cdeaton@brynmawr.edu, 413-636-8073, Box C-450

Vice President: Brianna Nelson, bnelson@brynmawr.edu, 515-491-8121

Treasurer: Molly Webb, mhwebb@brynmawr.edu, 203- 559-8490

EVENT	ITEM	Quantity	Price	Total Needed
Club Meetings	John Cordner's The Art of Fiction		645.00	845.00
Spring Semester 2010	John Gardner's The Art of Fictio	1	\$15.00	
	Paper	2	\$2.50	\$5.00
	Writing Utensils	1	\$5.00	\$5.00
	Tub of Animal Crackers	3	\$7.00	\$21.00
SEMESTER TOTAL:				\$46.00

#### Total Awarded

\$15.00 \$5.00 \$5.00 \$21.00

\$46.00

Muslim Students Ass	- Coluction	•	_	_	_	
Contacts:						
			-	_	_	
President: Nafisa Misawa, amisawa@brynmawr.edu, 412-708-8208						
Vice President: Najia Mohammad, nmoham	ma@brynmawr.	edu				
Secretary: no secretary						
Treasurer: (Haverford) Edin Fako, efako@haverford.edu, 203-919-0247, (Bryn Mawr) Sana Venjara, svenjara@brynmawr.edu, 718-702-0555						
EVENT	ITEM	Quantity	Price	Total Needed	Total Awarded	
Religion on Campus Week		1				
Haverford Malcom X Event- Co-Sponsored with BSL	Speaker Honorarium	50-70 people	\$300.00	\$300.00	\$300.00	
Bryn Mawr Event	Food (pizza, soda, cake,etc. )	25-35 people	\$80.00	\$80.00	\$60.00	
Jihad for Love Movie Screening	-	40-50 people				
	Publicity	V = =	\$25.00	\$25.00		
	Film Rights		\$150.00	\$150.00		
KOMINAS - Muslim Punk Rock concert		70-80 people			1	
Nominas - musimi runk Nock Concert		people	\$500.00	\$500.00	\$500.00	

	Group				
	Transportation		\$100.00	\$100.00	\$100.00
	Publicity		\$50.00	\$50.00	
Taqwa core Documentary Screening		40-50 people			
	Publicity		\$25.00	\$25.00	\$25.00
	Film Rights		\$150.00	\$150.00	\$150.00
Jerusalem Event		30-40 people			
A CONTRACTOR WALLSTON	Mural Supplies		\$50.00	\$50.00	\$50.00
	Food & Drinks		\$80.00	\$80.00	\$60.00
Islam: A Different Perspective		30 people			
	Honorarium		\$150.00	\$150.00	
Senior Farewell Party	1.09	30 people			
Semon runcy	Food (pizza, soda, cake,etc.	эо реоріс	\$100.00	\$100.00	\$100.00
	Senior Gifts	10	\$20.00	\$200.00	\$200.00
	2011				
SEMESTER TOTAL:		-		\$1,960.00	\$1,545.00

.

# Class of 2013

Contacts:

Presidents: Maddy Court, mcourt@bmc, 920-915-5950 , Box 519 Hope Wayman, hwayman@bmc, 978-270-0612, Box 1385

EVENT	ITEM	Quantity	Price	Total Needed	Total Awarded
Hell Week/ Valentine's Mixer					
2/14/20	10 Snacks		\$25.00	\$25.00	25
	Drinks		\$20.00	\$20.00	20
	Decorations		\$5.00	\$5.00	5
				\$50.00	
Dessert Night					
3/17/20	10				
	Desert		\$30.00	\$30.00	30
	Drinks		\$15.00	\$15.00	15
	Decorations		\$5.00	\$5.00	5
				\$50.00	
Lighted Fools Performance					
4/17/20	10 Dinner for Lighted Fools		\$45.00	\$45.00	45
	Snacks for audience		\$30.00	\$30.00	0
				\$75.00	
Water Balloon Fight					
Date	Balloons	170	\$1.75	\$25.00	25
	Balloons	170	\$1.75	\$25.00	25
				\$25.00	
Stress Buster Tea	Snacks		\$30.00	\$30.00	30
	Drinks		\$15.00		15
	Decorations		\$5.00	\$5.00	5
				\$50.00	
SEMESTER TOTAL:				\$250.00	

# AIS: Association of International Students - Spring 10

Contacts:

President: Wajeeha Mohsin, wmohsin@brynmawr.edu, 484-222-1500 President: Yufan Wang, ywang01@brynmawr.edu, 954-770-0313

Treasurer: Jiajie Lu, jlu@brynmawr.edu, 201-257-2361

EVENT	ITEM	Quantity	Price	Total Needed	Total	Awarded
Chinese New year Celebration						
	2/13/2010 dumplings, snacks		\$200			
Senior job/grad school Panel				\$200		200
	4/16/2010 Soda	10	\$50			
	Ice-cream	5	\$50	\$50		50
	Pizza	12	\$72	\$50		50
Spring Break trip to wildwood, NJ				\$72	\$	72
	3/6/2010 Bus hire and driver from transportation office	1	\$1,000.00			
				\$1,000.00	\$	1,000
Phidelphia Premium outlets shopp	ing trip: winter clothing					
	3/26/2010 Bus hire and driver from transportation office	1	\$500.00			
				\$500.00	\$	-
Seniors farewell						
	4/30/2010 Catered Indian food, Desi Village, K.O.P		\$400.00			
	Small gifts			\$400.00	\$	400
		40	\$300.00		200	
				\$300.00	\$	300
SEMESTER TOTAL:				\$2,572.00	8	2,072

## Folk Club

Contacts:

President: Laura Kelly-Bowditch, lkellybowd@brynmawr.edu, 781-454-6421 Treasurer: Beth R. Miller, brmiller@brynmawr.edu, 312-404-1320, C-1022

EVENT	ITEM	Quantity Price	Total Needed
Contra 1			
Early March	Band	1 \$400	0.00 \$400.00
conj maron	Caller	1 \$100	
	Refreshments	\$30	0.00 \$30.00
Contra 2			
April	Band	1 \$40	0.00 \$400.00
67	Caller	1 \$10	0.00 \$100.00
	Refreshments	\$3	0.00 \$30.00
Morris Workshop			
Late March	Workshop Leader	1 \$15	
	Band	1 \$300	0.00 \$300.00
Concert			
Early April	Band	1 \$40	
	Advertising	\$10	0.00 \$10.00
Glenside Dance Trip	Transportation (~45mi roundtrip)	1 \$20+\$	1/mi \$65.00
March			
Neffa Festival Trip April 25th-27th	Transportation (bus tickets to Bo	5 \$5	0.00 \$250.00
Folk Sings	Song Books		2.00 \$88.00
February, May Day	Refreshments	2 \$2	0.00 \$40.00

Interest Tea Early February

Refreshments

1 \$20.00

\$20.00

SEMESTER TOTAL:

\$2,333.00

### Total Awarded

\$400.00 \$100.00 \$30.00

\$400.00 \$100.00 \$30.00

\$100.00 \$300.00

\$65.00

\$200.00

\$88.00 \$40.00 \$20.00

\$1,873.00

11 20 1

### International Justice Coalition (IJC)

Mission of Club:

\* To unite concerned students in the Bryn Mawr community through creative means of awareness.

\* To foster a spirit of compassion and solidarity within the community through student discourse and action.

\* To encourage student initiated education about worldwide issues and move towards becoming a well-informed community.

Co-President Eri Koke, ekoke@brynmawr.edu, 908-285-6451 Co-President Nimrah Najeeb, nnajeeb@brynmawr.edu, 646-202-0926

EVENT	ITEM	Quantity	Price	Amount Budgeted	Amount Received
Welcome Back Tea Lale February	Food - Cookie Platterlother snacks Coloured Paper for Brochures	5	\$6.00 \$15.00		
	SUBTOTAL			\$45.00	
Second Tea for Members Early Merch	Food - Cookie Platterlother snacks Coloured Paper for Brochures	5	\$6.00 \$15.00		
	[SUBTOTAL			\$45.00	\$0.00
Material for New Co-Coordin	ators				
	Binders Post-it markers Sherpies	5 3 1	\$5,00 \$4,00 \$7,00	\$12.00	\$12.00
	SUBTOTAL			\$44.00	
Justice Week Advertising	Jumbo Chalk Copy Center Package	2	\$5.00	\$10.00 \$60.00	
	(SUBTOTAL			\$70.00	
SEMESTER TOTAL:				\$204.00	\$159.00

### Pulso Latino

Fall '09 Budget

Co President: Hannah Moreira

(646) 338-7510

hmoreira@haverford.edu

Co President: Darcy Kottler

(914) 874-4501

dkottler@brynmawr.edu

Types of Activities: The members of the Pulso dance troupe are students who wish to share their enthusiasm for the art and culture of Latin movement. The purpose of the organization is to provide the Bryn Mawr, Haverford, and Swarthmore communities with opportunities to learn and to practice Latin dance through instruction, guided practice, and social dancing activity. It is also our aim to introduce the styles of Mambo, Salsa, Reggaeton, Cha-cha-cha, Rumba, Merengue, Samba, Flamenco, Bachata, and Tango to those who may have never had the opportunity to encounter these dances, as their instruction is often costly.

Size of Pulso Latino: 35

Event/Expenses

Club Activites

General Needs

Description

Costumes

depends on the dances and preferences of members

Volunteer in Philadelphia

Perform and provide Latin ethnic food for families

of cancer patients at the Ronald McDonald House

one trip

possibly 3 vans among 30-35 people (\$1/mile) per van. 3 vans, roundtrip

Groceries to provide food

(approx \$5 a person for 80 people)

Salsa Lessons

Professional Salsa Dancer from Dance Sports Academy

in Ardmore to give salsa lessons to the group

Costumes (stated above)

Publicity

\$100.00 x2 for copy center-offered pubilicty package of

posters, flyers, and table cards to be placed on

BMC, HC, and SC campus

AFTER PARTY

DJ

Night of 4/2

\$300.00 x1 for DJ

Semester Total

2 \$100 \$200.00 1 \$400 \$400.00

\$2,850.00

\$ 200.00

\$ 300.00

\$ 1,850.00

## SOFTBALL CLUB

President: Alexia Fawcett, afawcett@brynmawr.edu, 845-532-6481, Box C-504

Although the club can only receive up to \$250, the minimal amount of equipment that is needed to play softball safely exceedes this budget. Therefore I have made a list of all equipment needed by priority, with the first section including the equipment that can be covered by the allotment of \$250 and the second section outlining the remaining desired necessary equipment.

EVENT	ITEM	Quantity	Price	Total Needed
Equipment (covered by \$250	)			
	Catcher's Helmet	1	\$80.00	\$80.00
	Catcher's Chest Protector	1	\$50.00	\$50.00
	Softballs (Sold in dozens)	1	\$53.00	\$53.00
	Batting Helmets	1	\$25.00	\$75.00
SEMESTER SUB-TOTAL:				\$258.00
Extra-budget equipment	Catcher's Leg Guards	1	\$60.00	\$60.00
6-2	Ball bucket (to store the balls)	1	\$15.00	\$15.00
	Bat	- 1	\$85.00	\$85.00
	Helmet Cages (to attach to front	3	\$10.00	\$30.00
SEMESTER TOTAL:				\$448.00

Note: equipment will be carried through to future semesters

Total Awarded

0 0 0

\$250

### Bi-Co Scottish Country Dance Spring 2010

Margaret Summerfield President msummerfie@brynmawr.edu (914) 310-4772 Box C-489

Lizz Wills

Vice President

lwills@brynmawr.edu

Anne George-Hallgren Treasurer ageorgehal@brynmawr.edu

The Bi-co Scottish Country Dance club meets weekly for two-hour classes during which certificated teachers teach Scottish country dancing to roughly 25 students. Classes include live music. Tea and club meetings follow class. Students also have the opportunity to attend Scottish dancing events such as balls and advanced classes in the area through the Delaware Valley Branch of the Royal Scottish Country Dance Society (RSCDS).

Event Ceilidh	Items	Amount Requested	Amount Awarded
Date: March	Caller	\$150	100
Bata. maron	Food	\$50	0
	Musician's Gifts	\$80	40
Dithean		50.470	
Date: April	Ball Dance Booklets	\$50	50
/	Decorations	\$30	0
	Food and Supplies	\$50	10
	Musician's Gifts	\$80	0
May Day			
Date: May 2, 2010	Professional Piper	\$100	100
	Demo Uniforms	\$80	0
General Classes			
Date: All Semester	Musician's Gifts	\$80	0
	Dance Books	\$40	0
	Transportation	\$40	\$0
Total requested		\$830	\$375

### Lavender's Blue budget spring 2010

Lavender's Blue is an a cappella group which sings "oldies". We plan to continue recording our third CD and release it this spring; we will also perform several times on campus this semester. We have 11 members and meet twice a week.

Contacts:

President: Naomi Hamermesh

302-367-5877

C-188

nhamermesh@brynmawr.edu

Treasurer: Katharine Woolls

818-795-4649

C-1473

kwoolls@brynmawr.edu

Musical Director: Amanda Darby

301-471-1554

adarby@brynmawr.edu

Busin

**EVENT** 

ITEM

Quantity

17 hours

Recording and Mixing-Milkboy Studios

Date: 20 March 2010

Item 1: Professional Recording and Mixing Lavender's Blue will be recording

and mixing our third CD at Milkboy

Studios. They charge \$85/hour, and we plan to record and mix for

17 hours.

CD Production with Disc Makers

Date: April 2010

Item 1: CD Production

200

We plan on producing our third CD this spring with Disc Makers. This company charges \$360/100 CDs, and we anticipate producing 200

CDs with them.

Vagina Monologues

Date: February 2010

Item 1: funding

SEMESTER TOTAL:

ess Managers: Liz Newbern Martha Johnson

501-804-7042

908-247-5001

C-870

C-771

enewbern@brynmawr.edu mjohnson06@brynmawr.edu

Price

**Total Needed** 

Total Awarded

\$85/hour

\$1,445.00

\$1,232.50

\$360/100 CDs

\$720.00

\$330.00

\$100

\$0

\$2,265.00

\$1,562.50

# **IMPACT**

Contacts:

President: Mithila Rajagopal, mrajagopal@brynmawr.edu, 5305741925 President: Anne Shrestha, ashresth02@brynmawr.edu, 6074258018 Secretary: Kiran Bhardwaj, kbhardwaj@brynmawr.edu, 4023145966

EVENT	ITEM	Quantity P	rice	Total Needed
Internship Panel Feb 9th (Tentative)	Ice Cream for 15 people	6 pints	\$5.00	\$30.00
International Justice Week	Poster Exhibition Printing			\$15.00
FundRaiser Cookie Sale (Hell Week)	Ingredients for Baking			\$25.00
Haiti Relief Week Tentative				\$20.00
Wharton Microfinance Confer April 18th (Tentative)	ren Train tickets for about 10 people	10	\$7.25	\$72.50
Field Visit March (Tentative) SEMESTER TOTAL:	Train tickets for about 10 people	10	\$7.25	\$72.50 \$235.00

Total Awarded

0

15

12.5

0

72.5

36.25

162

### **BACaSO SPRING 2010 Budget**

Contacts:

Co President: Debbie Ahenkorah dahenkorah@brynmawr.edu (484) 620 7617 Co President: Natasha Gittens ngittens@brynmawr.edu (617) 592 -0659 Treasurer: Thembi Mdachi tmdachi@brynmawr.edu (267) 684 -9315

EVENT	ITEM	Quantity F	rice	Total Needed	Total Awarded	Total Spent
African-Caribbean Week April	Advertising (Table Tents, Fliers)	5	\$2.00	\$10.00	\$ 10.00	
The purpose of this week is to draw attention to issues/events that are pertinent to Africa and the Caribbean. We aim to do this by hosting movie showings and hosting various symposia. It will open to the Bryn Maw						
community.	Drinks	10	\$1.00	\$10.00	\$ 10.00	
	Snacks	10	\$4.00	\$40.00	\$ 20.00	
	Pizza	8	\$15.00	\$120.00	\$ 75.00	
	T-shirts			\$150.00	\$ -	

#### Harvard African Business Conference

19-Feb

Held annually on the Harvard Business School Campus, the conference is the world's largest student-run event focused on business in Africa. It brings together over 950 participants including African students and business professionals from around the world, and provides an exceptional networking opportunity for business and community leaders, current and prospective Harvard MBA students and alumni, students from other graduate programs, and educators from around the world

00.00 \$4

\$400.00 \$

360.00

March						
Senior Dinner May						
This is an annual event in which BACaSO members honor the organizations seniors. This year the Exec Board would like to buy girts for BaCASO seniors and a cloth for them to wear on graduation along with their gowns to be						
identified as being members to affinity group on campus.	Dinner		\$500	\$500	\$ 350.00	
	Gifts		\$400	\$400	\$ 200.00	
	Kente Cloth		\$350	\$350	\$ 250.00	
	Transportation (Van)		\$20	\$20	\$ 20.00	
	Time (Hours)	4	\$20	\$80	\$ 80.00	
	Mileage	20	\$1	\$20	\$ 20.00	
News-Letter						
The Exec board would like to create a news letter on campus as a medum to further extend awareness of						
issues affecting the African and Caribbean regions.	Printing	100		\$300	\$ 100.00	
Friday Fun Night			\$25.00	\$25	\$ 25.00	

DJ

**BACaSO Party** 

March

\$500.00 \$

40.00

# **Bi-Co Juggling Club**

Contacts:

President: Manya Steinfeld, msteinfeld@brynmawr.edu, 774-249-8857

Secretary: Bo Friddel, gfriddel@haverford.edu, 757-754-0162 Treasurer: Alexia Fawcett, afawcett@brynmawr.edu, 845-532-6481

EVENT	ITEM	Quantity P	rice	Total Needed
Necessary Equipment				
	Diablo	3	\$30.00	\$90.00
	Juggling Balls	21	\$8.00	\$168.00
	Juggling Clubs	9	\$20.00	\$180.00
	Total			\$438.00

SEMESTER TOTAL:	
SEMESTER TOTAL.	

Total Awarded

250

# **Bryn Mawr College MAPS**

Contacts:

President: Yong Jung Cho, ycho02, 917-574-0946 Box C-398

Gene Lee, ejlee,213-392-1554

Treasurer: Hannah Choe, hbchoe, 610-937-9108

EVENT	ITEM	Quantity	Price	Total Needed	Total Awarded
Body Worlds Learning Experinece					
20-Mar-10	Tickets (Student price 16.75- evening tickets)	10	\$10.00	\$100.00	100
	Transportation	10	\$0	\$0	0
Celebrated Health Professional of Color			100.00		
8-Apr-10	Food	1	\$20.00	\$20.00	20
	Drinks	1	\$10.00	\$10.00	10
MCAT and Finals Relief Party					
30-Apr-10	Food	1	\$50.00	\$50.00	50
	Supplies for Activites	1	\$20.00	\$20.00	0
Fundrasing	Bake Sale	1	\$50.00	\$50.00	25
SEMESTER TOTAL:				\$250.00	205

		(C. )	
IVЛ		Δr	20
	u	CI	es

Contacts:					
President: Paoli Roman-Borrero	promanborr@bmc.edu	(857) 7	53-0310	Box C-1048	
Secretary: Caroline Correa Rivera-Vega					
Treasurer: Ashley Navarro	anavarr@bmc.edu		804-7984	Box C-858	
Trouburd. Fishing Harairo	anavanggome.cou	(010)	004-7304	BOX 0-000	
EVENT	ITEM	Quantity	Price	Total	Total
100000000000000000000000000000000000000				Needed	Awarded
Hermana/Hermanita Social			4000000		
6-Feb-10	Pizza	7	\$70.00		
	Drinks	4	\$10.00		
				\$80.00	75
Exec. Board Appreciation Gifts	Printing	4	\$40.00		
12-Feb-10	Sweat Pants	4	\$40.00		
12 1 00 10	Oweder and		040.00	\$80.00	80
Senior Dinner					
20-Mar-10	Food	12	\$100.00		
Lo mar to	1000		Q100.00	\$100.00	0
Senior Gift					
20-Mar-10	Printing	8	\$70.00		
20 (1)01	Sweaters (Hoodies)	8	\$90.00		
AVA-00 10 10 100	(1000.00)			\$160.00	160
La Noche De Gala				0.0000000000000000000000000000000000000	7
10-Apr-10	Keynote Speaker	1	\$1,000.00		
	Tickets and Invitations	TBD	TBD		
	Food	TBD	TBD		
				\$2,140.00	2140
All-Inclusive Bi-Weekly Body Meeting		-11 10000000000000000000000000000000000			
Semester Long	Board Games	TBD	TBD		
	Storage Container	TBD	TBD		
		1000000		\$100.00	0
SEMESTER TOTAL:				\$2,660.00	2455

# **SANSKRITI - HINDU CLUB**

Contacts:

President:

Tanvi Surti

tsurti@brynmawr.edu

2153752697

ACTIVITIES	TIES DETAILS		rice					
Events								
Holi (Hindu Festival) Event	Food and Cutlery	30	\$5.00					
	Ceremonial Requirements	1	\$50.00					
Trip to Temple	Bryn Mawr Van	1	\$40.00					
	Food	15	\$1.00					
	Advertisments	1	\$5.00					
General Meeting	Food	20	\$8.00					
	Advertisement	1	\$5.00					
SEMESTER TOTAL:			POR PAR					

Total Needed Total	al Awarded
1000	
\$150.00	\$160.00
\$50.00	\$30.00
	\$190.00
\$40.00	\$0.00
\$15.00	\$15.00
\$5.00	\$0.00
	\$15.00
\$160.00	\$0.00
\$5.00	\$5.00
	\$5.00
\$515.00	\$262.10

### WOMEN'S CENTER

Contacts:

Head: Nicole Matos, (570)856-0697

GSAAD Head: Michelle Smith, msmith07@brynmawr.edu Treasurer: Nga Nguyen, nlguyen@brynmawr.edu, x5705

The Vagina Monologues

February Sponsorship \$250.00

The Clothesline Project

March	Advertisement		\$15.00
	Packages of Clothespin	2	\$10.00
	T-Shirts	2	\$20.00
	Clothesline		\$10.00

The Waiting Room

March	Sponsorship	\$250.00
march	Sportsorallip	3230.00

I \*Heart\* Female Orgasm

March Honarium \$200.00 Advertisement \$15.00

Women's History Month Banner/Poster Making

February 24 Art Supplies \$20.00

#### SEMESTER TOTAL:

Total Needed Total Awarded

\$250.00 \$ 250.00

\$55.00 \$ 55.00

\$250.00 \$ 250.00

\$215.00 \$

\$20.00 \$ 20.00

\$790.00 \$ 575.00

### Yalah!

Bi-Co Belly Dance Club

#### Contacts:

President: Julianne Rie jrieders@brynmawr.edu, (215)913-0844 Box C-456 Co-President: Naomi Sharlin nsharlin@brynmawr.edu, (608)628-056 Box C-520 Co-Treasurers: Elizabeth Yost eyost@brynmawr.edu, (216)406-7462 Box C-249 Sarah Matteson smatteson@brynmawr.edu, (443)802-54 Box C-1042

#### Events:

Performan	ce and Culture Showcase:	Amount Re	Amount Given
	Persian food from Mediterranear	\$450	\$450
	Beverages	\$50	\$50
Costumes:	7 harem pants (\$30 each)	\$210	\$210
	10 canes (\$25 each)	\$250	\$250
	7 scarves (\$30 each)	\$210	\$210
	15 skirts (\$30 each)	\$450	\$300
	7 tops (\$30 each)	\$210	
	Total:	\$1,830	\$1,470

# Sisterhood Spring '10

Contacts:

President: Sharhea Wade, swade@brynmawr.edu, (617)459-1822 Kerlyne Jean, kjean@brynmawr.edu, (857)277-2793

Treasurer: LaKesha Preston-Roberts, Iroberts@brynmawr.edu (650)444-9818

EVENT	ITEM	Quantity	Price	Total Needed	Total Awarded	Total Spent Left Over
Movie Showing						
Feb. 25th	Soda	5	\$1.00	\$5.00		
	Bag of Chips	5	\$1.00	\$5.00		
	Box of Popcorn	1	\$5.00	\$5.00		
	The state of the s		10000	\$15.00	\$ 15.00	
Party						
Feb. 26th	DJ	1	\$ 500.00	\$500.00		
				\$500.00	\$ 300.00	
Friday Fun Day (B	aCaSo/Mujeres)					
Mar. 19th	Snacks		\$25	\$25.00		
				\$25.00	\$ 25.00	
Sisterhood Culture	e Show					
Apr. 9th	Performer	1	\$ 500.00	\$500.00	\$400.00	)
	Decorations	1	\$ 150.00	\$150.00	\$100.00	)
	Programs	1	\$ 50.00	\$50.00	\$0.00	)
	Publicity	1	\$ 5.00	\$5.00	\$0.00	)
	Food					
	Large Jerk Chicken	1	\$150.00	\$150.00	\$ 150.00	
	Large Vegetable Stir Fry	1	\$125.00	\$125.00	\$ 125.00	
	Large Plantain	1	\$85.00	\$170.00	\$ 85.00	
	Bags of Chicken	8	\$16.00	\$128.00	\$ 80.00	
	Desserts	1	\$100.00	\$100.00	\$100.00	)
	Drinks	10	\$10.00	\$10.00	\$10.00	1

				\$1,388.00		
Culture Show After Part Apr. 9th	by DJ	1	\$ 500.00	\$500.00		
				\$500.00		\$450.00
Exec Board Retreat						
Apr. 22nd	Restaurant	1	\$ 200.00	\$200.00		\$0.00
1.40.00				\$200.00		\$0.00
Senior Dinner (BaCaSO	)					
May 8th	Transportation (Van)	1	\$ 20.00	\$20.00	\$	20.00
	Mileage	20	\$ 1.00	\$20.00	\$	20.00
	Time (Hrs.)	4	\$ 20.00	\$80.00	\$	-
	Restaurant	1	\$500.00	\$500.00	\$	400.00
	Gifts	1	\$250.00	\$250.00	\$	250.00
	Kente Cloth	15	\$20.00	\$300.00	\$	200.00
				\$1,170.00		
SEMESTER TOTAL:				\$3,798.00	S	3,018.75

23		

Spring 2010 SGA Budget

Virgin Mawrtyr Bryn Mawr's Literary Erotica Magazine

Mission:

Wrigin Mawrtyr is a bi-annual literary magazine that publishes both literary and visual works of Bryn Mawr students that focus on sex, gender and the body.

Contact Information:		
Editor-in-Chief	Michelle Zauner	masuner@brynmaser.edu, 541-510-7059
Editor-in-Chief	Ivy Howell	howel@brymawr.edu, 312-656-8382

Members:

-20 editors/staff

Activities

TOTAL

Bi-monthly meetings consist of discussing individual ideas and contributions for the literary magazine, general layout and theme, as well as special events.

EXPENSES: Virgin Mawrtyr Publication Costs	This semester, Virgin Mawrtyr will contact Bartash Printing about printing Virgin Mawtyr on newsprint	item Printing	Amount Requested Amount Given \$350	\$250
regar mannight association country	The action of the country of the cou		****	\$250
(vents				
pring Issue Release Party and Exhibition				
	Virgin Mawrtyr will provide artists with color printing, photo paper, lighting, framing and mounting supplies.	Snacks/Refreshments Decorations	\$75 \$100	\$0 \$25
		Photo Paper	\$100	\$25 \$75
		Color Printing	\$100	\$0 \$75
		Mounting/Framing	\$100	\$75
		Gallery Lighting	\$125	\$75

\$950

\$500

## Bryn Mawr College Aikido Club Budget Spring 2010

Contacts:

President: Hannah Gatz-Miller, hgatzmille@brynmawr.edu, 971-570-1498 Box# C-546
Treasurer: Chandlee Taylor, cctaylor@brynmawr.edu, 410-271-3666 C-1294

Event: Item Quantity Price Total Needed Total Awarde
Aikido Class Mat Fee/Teaching fee 1 ##### \$1,000 \$500

Semester Total: \$1,000 \$625

# **ASA Spring 2010**

Contacts:

Presidents: Vicky Chu, vchu@bmc, 9178364589, Esther Chen, echen@bmc, 9176609290

Secretary: Peony Yiu, pyiu@bmc, 6468238313 Treasurer: Ruilin Xu, rxu@bmc, 6105134505

EVENT	ITEM	Quantity I	Price	Total Needed
Pre=Hellweek Part-tea				
2/2/2010	Chips	3	\$4.00	\$12.00
	Sodas	3	\$3.00	\$9.00
	Jelly	3	\$4.00	
Til Bered Blesse				
Tri-co Board Dinner	Drinks		62.00	60.00
1/29/2010		3	\$3.00	1-07.50.5072
	Pizzas	3	\$10.00	
	Chicken Wings	1	\$15.00	\$15.00
Lunar New Year Banquet				
2/9/2010	Siczchuan Beef	10	\$9.00	\$90.00
	Gong Pao Chicken	10	\$9.00	\$90.00
	Mixed Vegetables	10	\$7.00	\$70.00
	Dumplings	10	\$8.00	\$80.00
	Korean Rice Cakes	10	\$8.00	\$80.00
	Vegetarian Fried Rice	8	\$8.00	\$64.00
	Sodas, teas	10	\$3.00	\$30.00
	snacks	10	\$3.00	\$30.00
	Decorations	20	\$2.00	\$40.00
	Utensils	100	\$1.00	\$100.00
Alumi Panel				
4/6/2010	Fruits Platter	1	\$50.00	
	Cheese and Crackers	1	\$50.00	
	Sodas	40	\$1.00	
	Tea, Coffee	2	\$20.00	
	Utentils	40	\$1.00	\$40.00
The Shanghai Restoration Proje				
3/28/2010	Performance fee	1	\$1,500	\$1,500.00
	Transpotation fee	1	\$400.00	
	Snacks	6	\$4.00	
	sodas	80	\$1.00	
	Advertising (Posters)	30	\$5.00	
	Advertising (table cards)	50	\$1.00	\$50.00
Co-sponsor Haverford's PK Cor		32	****	
	Peformance fee	1	\$200.00	\$200.00

Senior Banquet				
4/2	0/2010 Senior Gifts	20	\$10.00	\$200.00
	Shrimps in Chinese Sauce	7	\$10.00	\$70.00
	Hunan Chicken	7	\$9.00	\$63.00
	Mapo Tofu	7	\$8.00	\$56.00
	Vegetarian Fried Rice	7	\$8.00	\$56.00
	Sodas	8	\$4.00	\$32.00
	Utensils	60	\$1.00	\$60.00
Conferences	ECAASU	5 5	5*50%	\$138.00
50% reimbursement	ITASA	5 5	0*50%	\$125.00
	KASCON	15 6	0*50%	\$450.00
Bubble tea/Cup Noodle S	tudy Break Tea			
BEN 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	7/2010 bubble tea	30	\$4.00	\$120.00
	cup noodles	40	\$0.50	\$20.00
	green tea icecream	3	\$10.00	\$30.00
SEMESTER TOTAL:				\$4.805.00

s	ΕM	IES1	FR	TOT	AL:
-					

### Total Awarded

\$12.00 \$9.00 \$12.00

\$90.00 \$90.00 \$70.00 \$80.00 \$80.00 \$64.00 \$30.00 \$40.00 \$100.00

\$1,500.00 \$400.00 \$24.00 \$80.00 \$150.00 \$50.00

\$200.00

\$200.00 \$70.00 \$63.00 \$56.00 \$56.00 \$32.00 \$60.00

\$120.00 \$20.00 \$30.00

\$3,818.00

Contacts:

President: Liz Silow, Esilow@BMC, 215 620 7009 Secretary: Alexa Valenstein, Avalenstei@BMC

EVENT ITEM Quantity Price

Lee Walzer (Speaker)

Still Scheduling \*possibly IJ week Travel Expenses \$300.00

Hookah/Nargila Night at Omar's (BRYN MAWR)

TBA Hookah 4 \$150.00

**Itamar Marcus** 

24-Feb-10 Speaker's Fee \$1,000.00

Asaf Romirowsky- Middle East Affairs 101 Lectur Speaker's Fee \$600.00 TBA

SEMESTER TOTAL:

### Total Needed Total Awarded

\$300.00 300

\$150.00 150

\$1,000.00 590

\$600.00 600

\$2,050.00 1640

## PARLIAMENTARY DEBATE SOCIETY

Contacts:

Presidents:

Phaedra Tinder ptinder@brynmawr.edu; (484) 683-1680

Elizabeth Bingham ebingham@brynmawr.edu; (610) 526-5743

Mariel Woods mwoods@brynmawr.edu;

Treasurer:

Tanvi Surti

ACTIVITIES	DETAILS	Quantity	Price
APDA Tournaments			
NYU (APDA)	Tournament Fee	2	\$120.00
2/5-2/6	Transportation via SEPTA and Bolt Bus; per team, round-trip	2	
Princeton	Tournament Fee	4	\$120.00
· imoton	Transportation	4	
2/19-2/20	via SEPTA and NJ Transit, per team, round-trip		
Franklin and Marshall	Tournament Fee	2	\$120.00
	Transportation	1	
2/26-2/27	via Bryn Mawr van		
Stanford	Tournament Fee	1	\$120.00
3/5-3/6	Transportation via personal expendituree for the flight; however local transporation is shown here	1	\$40.00
William and Mary	Tournament Fee	4	\$120.00
	Transportation	1	
3/19-3/20	via Bryn Mawr van		
Boston University	Tournament Fee	4	\$120.00
APDA Meeting 3/26-3/27	Transportation via SEPTA and Bolt BUS; per team, round trip	4	\$120.00
Rutgers	Tournament Fee	2	\$120.00
	Transportation	2	

4/9-4/10	via SEPTA and NJ Transit; per team, round-trip		
Swarthmore College	Tournament Fee	2	\$120.00
Nationals 4/16-4/17	Transportation via Bryn Mawr Shuttle	2	\$0.00
Club Events		SERVICE.	
Tournament	Food- Lunch and breakfast	100	\$8.20
	Napkins, plates, knives, forks	100	\$1.00
	Trophies	10	\$10.00
	Stationary	100	\$0.40

<sup>\*</sup>Quantity for tournaments is the number of teams; a t

Total Needed	Total Awarded
CAPPELL LONG	
\$240.00	\$240.00
\$124.00	
\$364.00	
\$480.00	
\$256.00	
\$736.00	\$0.00
\$240.00	
\$100.00	
\$340.00	\$0.00
\$120.00	
\$40.00	
\$160.00	\$0.00
\$480.00	
\$150.00	
\$630.00	\$0.00
\$480.00	
\$480.00	
\$960.00	\$520.00
\$240.00	
\$160.00	

\$0.00	\$400.00
	\$240.00
	\$0.00
\$240.00	\$240.00
\$820.00	\$820.00
\$200.00	\$100.00
\$100.00	\$100.00
\$40.00	\$40.00

eam is two people

#### Budget for the Bryn Mawr Fencing Club Fall 2009

Budget for the Bryn Mawr Fencing Club Fall 2009
The purpose of Bryn Mawr's fencing club is too learn and practice
the sport of fencing and to grow that sport on Bryn Mawr's
campus (particularly since there is no longer a fencing class
offered by the Athletics Department). We work with all skill levels
and are building a core of competitive fencers while providing a
supportive environment for new fencers.

#### Contact Information:

Co-President: Rachel Goddard Mail Box: C-165 Celt (1-646)/248-9506 godderd@brynmewr.edu

Co-President: Dewn Hathaway Mail Box: C-1281 Cell: (1-860)885-8040 shethaway@boxnmawr.edu

Treasurer Michelle Crepeau Box C-100 Celt (1-207) 939-5729 mcrepeau@brynmawr.edy

Needed Services: Coaching Fees	Quantity	Amou	int Requested	Amount Awarded
Coaching Fees				
To pay for the expertise and guidance of Coach Arben Lalonde, necessary for our club to improve competitively and continue in our capacity as a replacement for the Fercing Class formerly offered by Athletics.	i)			
Fees:		\$	637.50	8637.50
BWCFC Dues To pay for our club's BWCFC (Baltimore-Washington Collegiate Fencing Conference) membership so that we, as a club, are able to broaden our competitive horizons and network effectively with other clubs and teams outside of the immediate Pennsylvania area.				
Fees:		\$	50.00	
Section Total:		\$	687.50	637.5
Equipment :				
Epee Buzzer Scoring Boxes To more efficiently utilize our practice space and time by providing our epee foncers with a better system of bouting management without the expenditure of acquiring an additional electric scoring set.				
Price:	2	5	100.00	0
Ohm Meter To better equip our armory so that we effectively maintain and utilize our club equipment			****	
Price:	S 31	3	35.00	0
Absolute Standard Eipee Bodycord To better meet the equipment needs of our growing club-base as new members graduate to specialized electric weapons.				
Price:	2	8	24.00	0
Absolute Electric Saber Mask Cord To better meet the equipment needs of our growing club-base as new members graduate to specialized electric weapons.				
Price:	2	\$	12.00	0
Section Total:			171.00	0
Total Budget Request for the Semester		\$	858.50	796.68

## **Hula Club**

Contacts:Colette Young, Moira Nadal

President:Colette Young, cyoung@brynmawr.edu, 1(240) 277-1407 Box 244C

Secretary: Maggie Ahrens mahrens@brynmawr.edu and Isa He ihe@brnmawr.edu 610-888-

Treasurer: Moira Nadal, mnadal@brynmawr.edu, (410)4023701

Item	amount/item	amount needed/person
skirt tassels	12 for \$15	5
shell rosettes	12 for \$3	5
Under skirt	1yd/\$2.00	10
Skirt belt	1yd/\$3.00	5
Feathers		\$2 5
Cardboard		\$1 1
Headband	1yd/\$1.75	5
Rosette	1 for \$0.50	25
Ribbon Ties	1 for \$0.10	10
shell rosettes	12 for \$2.00	5
Mumu	\$	25 5

Cherry Bloosom Festival \$330
Culture show \$200 Hawaiian food, Dancing, flyers, dHawaiian Culture Workshop \$200 professional

	Grand Total	Total Rewarded
	\$75	\$75
	\$15.00	\$15.00
	\$20.00	\$20.00
	\$15	\$15
	\$10.00	\$10.00
	\$1.00	\$1.00
	\$18	\$18
	\$12.50	\$12.50
	\$1.00	\$1.00
	\$10.00	\$10.00
	\$125	\$125
	\$330	\$ 330.00
ecorations, lei making	\$200	\$ -
ecorations, ici maxing	\$200	0
Grand Total	\$1,032.50	\$791

# **Democracy Matters**

Con	-	-	
5.45301	εа	6.5	25.

President: Sophie Papavizas, spapavizas@brynmawr.edu, 703-501-1290, Box C-967

Vice President: Sarah Theobald, stheobald@brynmawr.edu, 719-209-8323

Treasurer: Elizabeth Olecki, eolecki@brynmawr.edu, 409-564-9684

EVENT	ITEM	Quantity
National Summit		
1/29/10-1/31/10	Megabus to NY	3
	Megabus NY to Albany	3
	Amtrak Albany to Philadelphia partial reimburs	3
Valentine's Day Tabling	Construction paper (240 sheets)	1
9-Feb-10	Box of crayons (120 count)	1
	Boxes of markers (packs of 8)	2
	Bags of candy for table	3
Campaign Finance Education C	ampaign	
Month of February	Preliminary Flyers	40
	Round 2 Flyers	40
	Round 3 Flyers	40
Film Screening and Petition Sig	ning	
Late March	Posters	20
Edio malon	Bars of Soap in packs of 3	4
	(Use construction paper/supplies from Valentine	event)

#### SEMESTER TOTAL:

Price	Total Needed	Total Awarded
\$6.00	\$18.00	
\$21.67 (priced for three	\$65.00	
\$20.00	\$60.00	
\$10.00	\$10.00	
\$10.00	\$10.00	
\$4.00	\$8.00	
\$2.00	\$6.00	
\$0.06	\$2.40	
\$0.06		
\$0.06	1,7500,000	
\$0.70	\$14.00	
\$2.00	\$45 X X X X X X X X X X X X X X X X X X X	

\$206.20	106.25

## Rince Na Mawr Irish Dance Club

Contacts:

President: Yulia Belyakova, ybelyakova@brynmawr.edu, 610-844-3078 Vice President: Tiffany Gaal, tgaal@brynmawr.edu, 706-887-0119

Treasurer: Caitlin McKenney, cmckenney@brynmawr.edu, 603-845-8727, Box C-978

EVENT	ITEM	Quantity	Price	Total Needed
Irish Dance Lessons				
	5-Feb Hiring an Instructor	1	\$30.00	\$30.00
	12-Feb Hiring an Instructor	1	\$30.00	\$30.00
	19-Feb Hiring an Instructor	1	\$30.00	\$30.00
	26-Feb Hiring an Instructor	1	\$30.00	\$30.00
	19-Mar Hiring an Instructor	1	\$30.00	\$30.00
	26-Mar Hiring an Instructor	1	\$30.00	\$30.00
	2-Apr Hiring an Instructor	1	\$30.00	\$30.00
	9-Apr Hiring an Instructor	1	\$30.00	\$30.00
	16-Apr Hiring an Instructor	1	\$30.00	\$30.00
	23-Apr Hiring an Instructor	1	\$30.00	\$30.00
	30-Apr Hiring an Instructor	1	\$30.00	\$30.00
St. Patrick's Day Tea			The leavest and	N 2000-000
	17-Mar Refreshments	1	\$25.00	
	Napkins	1	\$3.00	\$3.00
	Cups	1	\$4.00	\$4.00
SEMESTER TOTAL:				\$362.00

## Total Awarded

30 30

Renewal Christian Fellowship	(RCF)			
Contacts:				***************************************
Presidents: Katharine Lee, kelee@brynmawr.edu, (347) 277-6601, Bo	ox 250			
Secretary: Soo Lee, cslee@brynmawr.edu, (484) 680-4348				
Treasurer: Lucinda Newbill, Inewbill@brynmawr.edu, (610)526-5755				
EVENT	ITEM	Quantity	Price	Total Needed
Weekly Transportation to Church Services in Philadelphia				
1/30/10 - 5/1/10	Van Rentals			
	[\$20/day + \$1/mi (20 mi)]	14	\$40.00	\$560.00
			total	\$560.00
Community Service - Volunteering Norristown Soup Kitchen				
	[\$20/day + \$1/mi (17 mi)]	2	\$37.00	\$74.00
402010, 4102010	(vzorday v v mm (17 mm)	-	total	\$74.00
Campus Outreach Event				
	Cookies & Cream ice cream	1	\$5.00	\$5.00
	Orange Sherbet	1		\$5.00
Different Street Street	Mint Chocolate Chip Ice cream	1	\$5.00	\$5.00
	Neapolitan ice cream	1	\$5.00	\$5.00
	Bowls	1	\$4.00	\$4.00
	Spoons	1	\$3.00	\$3.00
	Bible Tracts	20	\$1.00	The second secon
	Gift Bags w/ Candy	10	\$3.00	The second secon
			total	\$77.00
Weekly Bibly Study Sessions			-	
	Bible Study Guides	10	\$15.00	\$150.00
			total	\$150.00
Renewal Community Group Dinner				
	Care Packages	10	\$10.00	\$100.00

.

	Pizza	3	\$10.00	\$30.00
	Soda	3	\$2	\$6
	Plates	1	\$5	\$5
	Cups	1	\$4	\$3
	Cake	1	\$15	\$15 \$160
			total	\$160
Semester Total				\$1,021

-						
-			-			-
- physical and						
Tota	l Awarded					
\$	560.00					
		-	-		-	
			+			
\$	-					
3			-			
_						
			-	_		
\$	-					
\$	-					
\$	-					1 100
\$						
\$ \$ \$ \$ \$ \$	-					
S						
S	20.00					
S	20:00		-			
*			-	-		
	-		-	-		
				-	-	-
0	50.00		-			
\$	50.00		-			-
			1			
\$	-					

\$		-	200	NSI E-N
\$	-			
\$				
\$	2			
S	- 1			
\$				
\$	787.50			

# **Amnesty International**

Contacts:

President: Sara Alcid, salcid@brynmawr.edu, 208-721-2858

Secretary: Pamela Burt, pburt@brynmawr.edu

Treasurer: Kayla McDaniel, kmcdaniel@brynmawr.edu

EVENT	ITEM	Quantity F	rice	Total Needed
Semester Supplies				
4	Domestic Stamps	100	\$0.44	\$44.00
	International Stamps	80	\$0.98	\$78.40
	Box of Envelopes	1	\$8.49	\$8.49
Semester Event				
TBA	Food			\$250.00
	Decorations			\$50.00
	Advertising			\$25.00
	Prizes			\$75.00
SEMESTER TOTAL:				\$454.69

# BMC ( CS (Alternative Concert Seri 3)

Contacts:

Co-Heads:

Samantha Salazar ssalazar@brynmawr.edu 7086010869

Sarah Moser

smoser@brynmawr.edu

7033468761

Committee:

Sarah Cooper, Caroline Kelly, Sara Chang

Sharon Kuzinas, Farah Rishi, Kate Grant

EVENT	ITEM	Quantity Price	Total Needed	Total Awarded
Advertising	Poster publicity for the ASA show that we are co-sponsoring 11x17 full color posters from the copy center/ table tents	40	\$100.00	100
Merch (DIY)	T-Shirts	50 \$6/5	\$60.00	60
	Spray Paint	6 \$4/1	\$24.00	24
Andy Suzuki	Andy Suzuki APRIL covers everything for him and his band	1 \$600.00	\$600.00	200
1	feb 27check calendar for ccapril 10*			- 1

\$784.00 384

SEMESTER TOTAL:

ss 1/21/09

## Spring 2010 Budget - Batten

	oping zoro budget butten		
)	Needs/Activities Food for Dinner Guests We invite college community members to our home four days per week to share the experience of amazing vegan cuisine. This past spring, approximately 350 guests turned	Amount Requested \$1,200	Amount Awarded \$1,200
	Iransportation Fare In order to purchase our weekly local produce from the Clark Park Farmers Market, we have calculated the need for 56 tokens at bulk rate of 10 for \$14.50 (comes to \$87); 56 transfers @ 75 each (comes to \$42).	\$130	so
	Spring Fling An afternoon-long event open to campus we old every spring in which we invite all community members to our home for a grand fall-themed feast and entertainment.	\$250	\$150
	Professor Dinner  Each semester, we hold a dinner for professors and their families. Quoting one professor of last fall's event, "One of the nicest evenings ever at Bryn Mawr College."	\$300	\$200
	Staff Dinner We are planning a dinner for staff and their families similar to our professer dinner due to the success of professor dinner and at the request of several staff members who have expressed the desire for a night of their own.	\$300	\$200
	Guest Speakers and Performers  We hope to invite several guests to Batten and host unique and exciting events for the whole campus. Specifically, speakers from Fair Foods, a local organization dedicated to bringing locally grown food into the Philadelphia marketplace and promoting a humane, sustainable agriculture for the Greater Philadelphia region, and hold a screening of King Corn followed by a question and answer session with the film makers. Additionally, we would like to have Nicole Reynolds return for another concert this semester. She has	\$1,500	\$1,000
)	performed at Batten multiple times and there was an amazing turn out last semester.		
	Kitchen Apliances  Our kitchen is missing few key appliances. We would like to purchase a new set of knives, a large frying pan, cook books, and pasta maker among others.	\$400	\$200
	Admitted Students Open House For the past several semesters the Admissions office has contacted us to hold a fea for prospective students to give them a tour of the house and answer any questions they have pertaining to Bryn Mawr student life.	\$200	\$50
	Roller Derby  We would like to go as a house to a roller derby and a roller rink for house bonding.	\$360	\$0
	Batten Cookbook  Every year Batteniks compile their favorite recipes into a cookbook for personal use and for the House record. The cost of printing and binding at the Bryn Mawr Copy Center is copies at about \$.02 per page, with 30 pages in each book and 20 books total is \$12. Binding each book at \$.75 per book is \$15.	\$27	\$0
	Total	\$4,657	\$3,000

Treasurer: Aubree Gabbard, Lauren Russell

Aubree- (303)726-2470 / box 1331 Lauren - (908)500-2136 / box 731

agabbard@brynmawr.edu, Irussell@brynmawr.edu

Leaders: Kathy Zager, Laura Kelly-Bowditch, Sophia Wolfenden, Louisa Amsterdam, Aubree Gabbard, Lauren Russell, Laura Boyle, Pia Crawford-Silva, Kelsey McMillen, Adrienne Webb, Ruth Goodlaxson, Lucie Tran, Eva Herzog

> Members: 13 Meetings: weekly

## **BMC Capoeira Club**

Contacts:

President: Anna Jaffe; (919) 724-2642

Secretary: N/A

EVENT	ITEM	Quantity	Price		Total
Weekly Practices Once/week	Lessons from Capoeira	E	14	\$100	\$1,400
	Mestre once/week				
	Berimbaus (instrumer for group practice	1	2 \$50 e	ach	\$100
	Shirts or pants (meml would have to pay hal		8	\$10	\$80
SEMESTER TOTAL:					\$1,580

\$1,180

100

0

\$1,280

Club Name: "Doublestar"

"President" (Fearless Leader): Amanda Pester

Phone Number: 434-334-1883 Email: apester@brynmawr.edu

"Treasurer" (Lackie): Catrina Mueller

Phone Number: 610-331-7792 Email: cmmueller@brynmawr.edu

Tea after Hell  Week  contruction paper, glitter, other art supplies  \$15   May Day Tea A tea for after Step Sing  Tea, snacks, soda \$25  \$250  Total Funds Requested \$250  Semester Total # of Members:  35	vent	Item	Price		Total Amount Requested	Total Amount Awarded
A Weekend Tea in Snacks for Monthly February, March, April, and May Months x \$40) \$160  Saturnalia Party A party to celebrate Saturnalia Snacks/ Drinks /Silverware /etc \$50  Hell Week Tea Tea after Hell Week contruction paper, glitter, other art supplies \$15  May Day Tea A tea for after Step Sing Tea, snacks, soda \$25  Fotal Funds Requested \$250  Meeting Silverware \$35	SALES MAKES			MISS IF		
A Weekend Tea in Snacks for Monthly February, March, April, and May Months x \$40) \$160  Saturnalia Party A party to celebrate Saturnalia Snacks/ Drinks / Silvenware / etc \$50  Hell Week Tea Tea after Hell Week contruction paper, glitter, other art supplies \$15  May Day Tea A tea for after Step Sing Tea, snacks, soda \$25  Tea, snacks, soda \$25  Semester Total # of Members: 35  Meeting	lonthly					
February, March, Marathons (4 April, and May Months x \$40) \$160  Saturnalia Party A party to celebrate Saturnalia  Snacks/ Drinks / Silverware /etc \$50  Hell Week Tea Tea after Hell Week  contruction paper, glitter, other art supplies \$15  May Day Tea A tea for after Step Sing  Tea, snacks, soda \$25  Total Funds Requested \$250  Semester Total # of Members: 35  Meeting	14 (17 (18 (18 <del>1</del> 8 ) )					
February, March, Marathons (4 April, and May Months x \$40) \$160  Saturnalia Party A party to celebrate Saturnalia  Snacks/ Drinks / Silverware /etc \$50  Hell Week Tea Tea after Hell Week  contruction paper, glitter, other art supplies \$15  May Day Tea A tea for after Step Sing  Tea, snacks, soda \$25  Total Funds Requested \$250  Semester Total # of Members: 35  Meeting						
April, and May Months x \$40) \$160  Saturnalia Party A party to celebrate Saturnalia  Snacks/ Drinks /Silverware /etc \$50  Hell Week Tea Tea after Hell Week  contruction paper, glitter, other art supplies \$15  May Day Tea A tea for after Step Sing  Tea, snacks, soda \$25  Fotal Funds Requested \$250  Semester Total If of Members: 35  Meeting	Weekend Tea in	Snacks for Monthly				
Saturnalia Party A party to celebrate Saturnalia  Snacks/ Drinks /Silverware /etc \$50  Hell Week Tea Tea after Hell Week  contruction paper, glitter, other art supplies \$15  May Day Tea A tea for after Step Sing  Tea, snacks, soda \$25  Total Funds Requested \$250  Semester Total It of Members: 35  Meeting	bruary, March,	Marathons (4				
Saturnalia Party A party to celebrate Saturnalia  Snacks/ Drinks /Silverware /etc  \$50  \$210  Hell Week Tea Tea after Hell Week  contruction paper, glitter, other art supplies  \$15  \$225  May Day Tea A tea for after Step Sing  Tea, snacks, soda  \$25  \$250  Total Funds Requested  Semester Total  If of Members:  35  Meeting	pril, and May	Months x \$40)		\$160		
A party to celebrate Saturnalia  Snacks/ Drinks /Silverware /etc \$50  Hell Week Tea Tea after Hell Week  contruction paper, glitter, other art supplies \$15  May Day Tea A tea for after Step Sing  Tea, snacks, soda \$25  Total Funds Requested \$250  Semester Total of Members: 35  Meeting					\$160	160
Saturnalia  Snacks/ Drinks /Silverware /etc \$50  Hell Week Tea Tea after Hell Week  contruction paper, glitter, other art supplies \$15  May Day Tea A tea for after Step Sing  Tea, snacks, soda \$25  Total Funds Requested \$250  Semester Total If of Members: 35  Meeting	iturnalia Party					
Saturnalia  Snacks/ Drinks /Silverware /etc  \$50  \$210  Hell Week Tea  Tea after Hell Week  contruction paper, glitter, other art supplies  \$15  May Day Tea A tea for after Step Sing  Tea, snacks, soda  \$25  Total Funds Requested  Semester Total # of Members:  35  Meeting	party to					
Snacks/ Drinks /Silverware /etc \$50  \$210  Hell Week Tea Tea after Hell Week  contruction paper, glitter, other art supplies \$15  May Day Tea A tea for after Step Sing  Tea, snacks, soda \$25  Total Funds Requested \$250  Semester Total # of Members: 35	lebrate					
/Silverware /etc \$50  #Hell Week Tea Tea after Hell Week  contruction paper, glitter, other art supplies \$15  May Day Tea A tea for after Step Sing  Tea, snacks, soda \$25  Total Funds Requested \$250  Semester Total # of Members: 35  Meeting	iturnalia					
Hell Week Tea Tea after Hell Week  contruction paper, glitter, other art supplies  \$225  May Day Tea A tea for after Step Sing  Tea, snacks, soda  \$25  \$250  Total Funds Requested \$250  Semester Total # of Members:  35				- 0,000		9000
Hell Week Tea Tea after Hell Week  Contruction paper, glitter, other art supplies  \$15  \$225  May Day Tea A tea for after Step Sing  Tea, snacks, soda \$25  \$250  Total Funds Requested \$250  Semester Total # of Members:  35		/Silverware /etc		\$50		\$40
glitter, other art supplies \$15  May Day Tea A tea for after Step Sing Tea, snacks, soda \$25  Total Funds Requested \$250  Semester Total # of Members: 35  Meeting					\$210	
Contruction paper, glitter, other art supplies \$15  May Day Tea A tea for after Step Sing  Tea, snacks, soda \$25  Total Funds Requested \$250  Semester Total # of Members: 35	ell Week Tea					
contruction paper, glitter, other art supplies \$15  May Day Tea A tea for after Step Sing Tea, snacks, soda \$25  Total Funds Requested \$250  Semester Total # of Members: 35	a after Hell					
glitter, other art supplies \$15  May Day Tea A tea for after Step Sing Tea, snacks, soda \$25  Total Funds Requested \$250  Semester Total # of Members: 35  Meeting	eek					
supplies \$15  May Day Tea A tea for after Step Sing  Tea, snacks, soda \$25  \$250  Total Funds Requested \$250  Semester Total # of Members: 35		contruction paper,				
May Day Tea A tea for after Step Sing Tea, snacks, soda \$25  \$250  Total Funds Requested \$250  Semester Total # of Members: 35  Meeting		glitter, other art				
May Day Tea A tea for after Step Sing  Tea, snacks, soda \$25 \$250  Total Funds Requested \$250  Semester Total # of Members: 35		supplies		\$15		\$0
May Day Tea A tea for after Step Sing  Tea, snacks, soda \$25 \$250  Total Funds Requested \$250  Semester Total # of Members: 35					\$225	
A tea for after Step Sing Tea, snacks, soda \$25  Sep Step Sing Total Funds Requested \$250  Semester Total # of Members: 35  Meeting	av Dav Tea				(S)	
Tea, snacks, soda \$25 \$250  Total Funds Requested \$250  Semester Total # of Members: 35  Meeting						
\$250  Total Funds Requested \$250  Semester Total # of Members: 35  Meeting	ep Sing					
Total Funds Requested \$250 Semester Total # of Members: 35 Meeting		Tea, snacks, soda		\$25		\$0
Semester Total # of Members: 35 Meeting					\$250	
Semester Total # of Members: 35 Meeting	tal Funds Reques	sted			\$250	\$200
Meeting	mester Total					
	of Members:	35	5			
	eeting					
Frequency Once per week plus other teas	77.7	Once per week plus	other teas			

Club Name: "Doublestar"

"President" (Fearless Leader): Amanda Pester

Phone Number: 434-334-1883 Email: apester@brynmawr.edu

"Treasurer" (Lackie): Catrina Mueller

Phone Number: 610-331-7792 Email: cmmueller@brynmawr.edu

Once per week plus other teas

Frequency

Event	Item	Price		Total Amount Requested	Total Amount Awarded
Monthly Marathons					
A Weekend Tea in February, March, April, and May	Snacks for Monthly Marathons (4 Months x \$40)		\$160		
April, and May	Worldis x 540)		3100	100000	200
Saturnalia Party A party to celebrate Saturnalia				\$160	160
	Snacks/ Drinks				
	/Silverware /etc		\$50	\$210	\$40
Hell Week Tea					
Tea after Hell Week	contruction paper,		304		
	glitter, other art supplies		\$15		\$0
May Day Tea				\$225	
A tea for after Step Sing					
2100	Tea, snacks, soda		\$25	\$250	\$0
Total Funds Reque	sted			\$250	\$200
Semester Total # of Members:	31				
of Members:	35				
Meeting					

# Greens Budget Spring 2010

Trusurer: Ilja Hermans

ihermans@brynmawr.edu, 484-535-0030, Box: C-607

President: Yong Jung Cho Secretary: Abby Olson

ycho02@brynmawr.edu, 917-574-0946 aolson@brynmawr.edu, 240-888-8453

		O	Deles	Total Mandad	Total Augustad
EVENT	ITEM	Quantity	Price	Total Needed	Total Awarded
Energy diet	Money for posters	30	\$1.00	\$30.00	10
february	Energy Diet Prize	1	\$100.00		
	treats for during energy diet	1	\$150.00		
	bike pump	1	\$20.00		
	Energy Diet TOTAL:		Ψ20.00	\$300.00	
Earth Week, The week of A				(620000)	
April, 27th, 28th	Environmental justice tour	-	2000 00	6000.00	200
	cost of the tour	1	\$200.00		
	van certification	1	\$20.00		
	mileage, during tour	1	\$70.00		
	van rental	2	\$20.00		
	transportation to bryn mawr	1	\$130.00	\$130.00	0
April 20th	Speaker			14 6470000 F004	12000
	Night at Wyndham	2	\$100.00		
	Transportation	1	\$500.00	25,013,65,061,65	
	Publicity	20	\$1.00	\$20.00	10
April 19th	Movie				
	movie rental (food inc, swank)	1	\$0.00	\$0.00	0
	food	1	\$30.00	\$30.00	0
	spray paint for tote bags	1	\$20.00	\$20.00	20
April 22th	Earth Birthday Party				
	Cake	1	\$75.00	\$75.00	
	Pinatas/ decorations	1	\$20.00	\$20.00	20
	Seeds	5	\$10.00	\$50.00	0
	Candy	1	\$30.00	\$30.00	15
	EATH WEEK TOTAL:			1405	
Gardening Committee					
	Costs of seeds and materials			0.0000495	
	cranberries	5	\$10.99	Fac. 14.5 (19.7 (1	
	snap peas	5	\$3.00		
	onion	5	\$3.00		
	pumpkins	5	\$3.00		
	greek oregano	5	\$4.00		
	common sage	5	\$4.00		
	basil	5	\$3.25		
	turnips	5	\$3.00		
	soil	3	\$6.00		
	garden scissors	3	\$13.00	0.000.000000000000000000000000000000000	
	three piece garden tool set	3	\$14.00		
	gloves	1	\$17.00		
7 v	Garden TOTAL:			\$287.20	200
DEMENTED TOTAL				84 000 00	1 4007.5
SEMESTER TOTAL:				\$1,992.20	1337.5

## InterVarsity Christian Fellowship

		email	cell#	Box#
President	Madelyn Houser	mhouser	(215) 589 3286	C-1255
Secretary	Emily Kirchner	ekirchner	(724) 561 8336	C-670
Treasurer	Amanda Barwise	abarwise	(609) 634 3053	C-268
Activities	Amount Requested	Amound Recieved		
Chapter Camp	\$1,500	1054	0	
Transportation	\$300	300		

 Chapter Camp
 \$1,500
 1054

 Transportation
 \$300
 300

 Transportation
 \$100
 100

 Proxe Station
 \$200
 200

 mother's day cards
 \$50
 50

 movie/sleepover
 \$50
 50

 Large Group
 \$30
 30

\$2,230 1784

## **BI-CO JAPANESE CULTURE CLUB**

MISSION: To explore the Japanese culture through various social and cultural activities and events relating to Japan.

#### CONTACTS:

Co-President: Yuri Hongo (yhongo@brynmawr.edu) (201) 655-5744 C-625 Co-President: Siobhan Nelson (smnelson@brynmawr.edu) (919) 259-6907

Vice President: TBA Treasurer: TBA

Secretary: Tiffany Gaal (tgaal@brynmawr.edu) (706) 887-0119

EVENT	ITEM	Quantity	Price	Total NeededTotal	Awarded
Girl's Day Fundraiser on Campus					
3-Mar-10	Origami Pack (25 sheets)	5	\$8.00		
	Food (snacks, candy, sushi, etc.)	4	\$70.00	\$70.00	
SUBTOTAL:				\$110.00	80
Sawato Midori Performance at Swarthmore					
eb-10	Van Transportation	2.\$20	per hour, \$1 per mile	\$140.00	
SUBTOTAL:				\$140.00	0
Cherry Blossom Festival in Greater Philadelphi	a				
1-Apr-10	Septa R5 to Center City	40 \$10	round trip per person	\$400.00	
	Shuttle Ticket to Fairmount Park	40	\$2 per person	\$80.00	
SUBTOTAL:				\$480.00	80
Tamagawa University Drum Performance at Ha	verford College				
/6/2010	Food for reception (snacks and drin	ikt 5 of each \$	30 snacks, \$30 drinks	1000,000	
SUBTOTAL:				\$60.00	45
Japanese Paper-Cut Art (Kiri-e) Workshop with	Mr. Kubo				
/25/2010	Snacks for Reception	3	\$15 each	\$45.00	
SUBTOTAL:				\$45.00	45
TOTAL REQUEST:				\$835.00	250

# **Philosophy Club**

Contacts:

President: Nina Cohen, nrcohen@brynmawr.edu,

Vice-President: Beth R. Miller, brmiller@brynmawr.edu, 312-404-1320, C-1022

EVENT	ITEM	Quantity	Price	Total Needed
Philosophy Chats with Guest	Professors (x4)			
	Refreshments	4	\$20.00	\$80.00
Movie Screening (x2)				
	Pizza, drinks, etc.	2	\$60.00	\$120.00
	000000000000000000000000000000000000000		1000000000	
Philosophy Paper Help Tea	Refreshments	1	\$20.00	\$20.00
Ethics Podcast and Discussion	on (x2)			
	Refreshments	2	\$15.00	\$30.00
SEMESTER TOTAL:				\$250.00
JEMESTER TOTAL.				\$200.00

Total Awarded

\$60.00

\$110.00

\$20.00

\$30.00

\$ 220.00

Bi-Co Club						
Contacts:						
President Lauren Bochicchio, Ibo	chicchio@brynmawr.edu, 203-5	24-2408				
Secretary: Sana Venjara, svenjara						
Treasurer: Isabella Warren-Mohr, warrenmoh@brynmawr.edu,301- 728-4881 Mimi Fuchs mfuchs@haverford.edu						
EVENT	ITEM	Quantity	Price	Total Needed	Total Awarded	
M.E. Dance Fundraiser	DJ		\$500.00	\$500.00	\$375.00	
	Bracelets to sell	for about 60 people	\$200.00	\$200.00	\$100.00	

SEMESTER TOTAL:	\$700.	00 \$475.00	

#### NIMBUS LITERARY/ARTS MAGAZINE

Contacts:

Editor-in-Chief:

1st Asst Editor-in-Chief/ Financial Director:

2nd Asst Editor-in-Chief.

Marybeth Matlack, mmatlack@brynmawr.edu

Samantha Salazar, ssalazar@brynmawr.edu, 1(708)601-0869

Sharanya Sharma, ssharma@brynmawr.edu

**EVENT** 

ITEM

Quantity Price

Total Needed Total Awarded

Nimbus Publication Costs Lit/Art Mag

700

\$4,100

\$4,100

Apr-10 \* The annual publishing cost (including printing, shipping and handling, the cost of print-orders, etc)
This year the entire cost was pushed to the Spring Semester. Attached is Malloy's quote

Semester Total:

\$4,100

4100

January 3rd, 2010 SS

#### **RAINBOW ALLIANCE**

Contacts:

Co-President: Kathryn Rath, krath@brynmawr.edu, 740 646 3949 Co-President: Rachel Anderson, rmanderson@brynmawr.edu, 651 226 3264

Treasurer: Lillian Slogoff-Sevilla, Islogoffse@brynmawr.edu, 302 373 8768

EVENT	ITEM	Quantity P	Price	Total Needed	Total Awarded
DAY OF SILENCE					
16-Apr	Name tag materials	100		\$26.99	26.99
	Snacks			\$20.00	20
	Drinks			\$10.00	10
	Rainbow Ribbons	100		\$7.69	0
ARTS & CRAFTS NIGHT					
MARCH (DATE TBA)	Transparency Film	1		\$24.99	24.99
	Paint	6	\$3.00	\$18.00	18
	Fishing Line	1		\$3.00	3
	Paint Brushes	1 pack		\$5.00	0
VAGINA MONOLOGUES					
FEB 12 - 13	Donation	1		\$100.00	82
PORN & POPCORN					
First Week of May (Finals)	Popcorn	2 boxes	\$4.00	\$8.00	
	Movie Rental	3	\$3.00	\$9.00	
	Soda	2	\$1.50	\$3.00	3
	Candy	1 bag		\$4.00	0
BEGINNINGS TEA					
SEP 7 2010	Food			\$20.00	0
	Drinks			\$10.00	0

SEMESTER TOTAL:

\$269.67 204.98

# **Recycling Committee**

Contacts:

Co-Head: Cristina Munoz, cmunoz@bmc.edu, 213-514-2763 Co-Head: Kayla McDaniel, kmcdaniel@bmc.edu, 520-370-0169

EVENT	ITEM	Quantity Pri	ice	Total Needed	Total Awarded
Recycled Piñata (Earth Week)					
20-Apr-10	Elmer's glue	6	\$2.00	\$12.00	
	rope	2	\$2.00	\$4.00	
	Scotch Tape	3	\$3.00	\$9.00	
	color paints	3	\$4.30	\$12.90	
	streamers	1	\$2.00	\$2.00	
	Candy bag (15oz)	5	\$6.00	\$30.00	
	Wildflower seed bad (1Lb)	1	\$35.00	\$35.00	

SEMESTER TOTAL:

\$104.90 83

# **Bryn Mawr-Haverford Anime Club**

Contacts:

President: Erin Revia, erevia@brynmawr.edu, (650) 922-7140, C-816

Treasurer: Michelle Beard, msbeard@brynmawr.edu, (580) 678-6259, C-32

EVENT	ITEM	Quantity	Price	Total Needed	Total Awarded
Anime					
Note: Donation to library	Cowboy Bebop Complete DVD Set	1	\$33.99	\$33.99	\$0.00
	Mobile Suit Gundam Wing Complete Collection 1	1	\$42.49	\$42.49	\$0.00
	Mobile Suit Gundam Wing Complete Collection 2	1	\$42.49	\$42.49	\$0.00
	Bacanno Complete DVD Set	1	\$31.49	\$31.49	\$0.00
	Ouran High School Complete Box Set	1	\$51.99	\$51.99	\$0.00
	Miyazaki's Ponyo	1	\$19.99	\$19.99	\$0.00
Sakura Matsuri					
Tentative: Mid Spring	Pizza	6	\$16.00	\$96.00	\$0.00
	Japanese Candy	10	\$4.50	\$14.50	\$0.00
Katsucon Hotel Costs					
Feb. 12-14					
Note: Remaining Costs	Gaylord Convention Center (2 nights)	1	\$429.40	\$429.40	\$400.00
Transportation Costs					
Note: 4 cars (3 days)	Parking Fee (per day)	8	\$19.00	\$152.00	\$152.00
\$2.816/gal	Driving Cost (round trip)	4	\$20.00	\$80.00	\$80.00
Roundtrip: PHL>D.C.	Public Transportation	4	\$28.00	\$112.00	\$112.00
SEMESTER TOTAL:				\$1,106.34	\$930.00

## Bi-College Flute Choir, Spring 2010 Budget

Contacts:

President: Sara Marcus semarcus@brynmawr.edu, 610-331-1744, C-277 Treasurer: Celia Turner ctturner@brynmawr.edu, 218-355-0390, Box C-379

Item Amount Requested		Amount Budgeted
Fantasia(ed.Melicharek)(6C,A,B) (sheet music)	\$11.00	
Vocalise(ed.Webb)(P,4C,A,B,O) (music)	pt \$14.00	
Korg Tuner-Metronome Combo	\$36.00	\$36.00
Director x1 Concert (90 min.)	\$90.00	\$90.00
Director x3 rehearsals	\$180	\$180
Food for Concert Reception	\$40	\$10
Semester Total	\$371.00	\$316.00

### Class of 2012

Contacts:

President: Liana Donahue, Idonahue@brynmawr.edu, (504) 251-3596, C-465

EVENT	ITEM	Quantity F	Price
Valentine's Day Celebration (with 2013)	ř		
Feb.13th	Cookie Cakes	\$3	\$7.00
1.104(304/4)	Cookies	5	\$4.00
	Juicy Juice	4	\$4.00
	Cake	1	\$15.00
Cupcake Decorating Social/Fundraiser			
April.9th	Cupcakes Vanilla/Chocolate	80	\$1.00
	Frostings	6	\$4.00
	Sprinkles	6	\$2.00
	M&Ms	2	\$3.00
Field Day (with 2013)			
April.24th	Tarp	1	\$45.00
Sales The C	Baby Soap	10	\$2.00
SEMESTER TOTAL:			
Hell Week:			
DJ for the dance, Nikki Lopez			
T-shirts for student bouncers		32	\$13.00
Class of 2012 T-shirts:		50	\$10.00

Total Needed	Total Awarded

\$21.00	\$21.00
\$20.00	\$20.00
\$16.00	\$16.00
\$15.00	\$15.00
\$80.00 \$24.00 \$12.00 \$6.00	
\$45.00	\$45.00
\$20.00	\$20.00

\$450.00	\$450.00
\$416.00	- Secretaria
	****

\$259.00

\$500.00 \$500.00 \$1,209.00

## **DRUM (Developing Resonant, United Musicians)**

Contacts:

President: Sara Neidorf, sneidorf@brynmawr.edu, (856)625-4293

Vice President: Travis Gettinger, kgettinger@brynmawr.edu, (410)917-3606

Treasurer: Molly Webb, mhwebb@brynmawr.edu, (203)559-8490

EVENT	ITEM	Quantity	Price	Total Needed	Total Awarded
Drum set / equipment purchase					
5/13/2009	Ludwig Accent CS Custom 5 pc	1	\$513.60	\$268.60	\$268.60
BOOM TIC BOOM performance	Payment for performers	4	\$500.00	\$2,000.00	(
3/22/2010	Hotel Accomodations	4	\$150.00	\$600.00	
	Food / Transportatiotn	1	\$200.00	\$200.00	
	Promotional Materials	1	\$100.00	\$100.00	
Practice pads for students	Remo 8" practice pads	3	\$15.24	\$45.72	\$45.72

SEMESTER TOTAL:

\$3,214.32	\$314.32
	\$628.64

# **GymOwls Gymnastics**

Contacts:

President: Madeline Vellturo, mvellturo@brynmawr.edu, (978) 505 7254

EVENT	ITEM	Quantity	Price	Total Needed	Total Awarded
2/1-4/30	Gym Time	12	\$75.00	\$900.00	750
	Van Rental	12	\$40.00	\$480.00	400
	Van Rental Gas (per mile)	11.4x12	\$1.00	\$136.80	113.2
	Coach Salary	12	\$40.00	\$480.00	400
Equipment	= 806				
1.0 K of \$1.0 (0.00)	Grips	3	\$59.95	\$179.85	59.95
	Mats	2	\$100.00	\$200.00	100
Terrapin Invitational Med	et				
	3/27/2010 Van Rental	1	\$20.00	\$20.00	20
	Van Rental Gas (per mile)	300	\$1.00	\$300.00	300
SEMESTER TOTAL:				\$2,696.65	2143.15

# **BRYN MAWR JUDO CLUB**

Contacts:

President: Peiying Wen, pwen@brynmawr.edu, 610-888-6429

Vice-President: Stephanie Tran, stran@brynmawr.edu, 774-408-0159
Treasurer: Amelia Lee Zhi Yi, aleezhiyi@brynmawr.edu, 325-280-1734

The purpose of this club is to give Bryn Mawr students the opportunity to study the Japanese Martial Art of Judo, under the tutelage and supervision of the professional Senseis at Main Line Judo. Through Judo, students will learn a competitive sport that is at the same time a great method of self-defense, encouraging self-confidence in participants. Students will have the chance to exercise off-campus and meet students from other local universities, fostering inter-collegiate relations.

EVENT	ITEM	Quantity	Price	Total Needed
Activity				
Entire Spring Semester	Judo Instruction Fee	10	\$100.00	\$1,000.00
	Competition T-Shirts	10	\$7.00	\$70.00
	Competition Fees	10	\$55.00	\$550.00
	Transportation to Competition Venue (90 miles avg)	2	TBD	TBD
	USJA fees (Per Year)	10	\$50.00	\$500.00
	United States Judo Association			
Equipment				
Entire Spring Semester	Judo Gi	8	\$45.00	\$540.00
SEMESTER TOTAL:				\$2,660.00

Total Awarded

0 0 100

593.75

#### **SAW South Asian Women**

Contacts:

President: Priyanka Nalamada, pnalamada@brynmawr.edu, 646-884-0774; Nikitha Ashok, nashok@brynmawr.com, 908-510-2905

Secretary: Annafi Wahed, awahed@brynmawr.edu, 646-644-9647

Treasurer: Pending

EVENT	ITEM	<b>Quantity Price</b>	<b>Total Needed</b>	Total Awarded
Hell Week/ Welco	me Back Meeting			
2	/11/2010 Food: Samosas & coke		\$200.00	0
Cooking Event at	SGA House			
2	/21/2010 Food Supplies		\$50.00	50
Stanford Raagap	ella (Acapella Performance)			
3	/24/2010 Publicity		\$20.00	0
	Refreshments		\$250.00	200
	(for Performance and D	inner for Performers)		
Georgetown Com	nedy/Acting Troupe			
	4/9/2010 Publicity		\$20.00	20
	Travel/Accomodations		\$400.00	400
	Refreshments		\$250.00	150
	(for Performance and D	inner for Performers)		
Justice Week Act	tivity			
End March	Supplies		\$20.00	20
	Food		\$20.00	0

Spring Mela

April	Food			\$200.00	100
	Henna, Kites, Color Powde	ers		\$100.00	50
Movie Screening					
April	Food			\$100.00	100
Holi					
May	Colors			\$20.00	20
	Food		\$	100.00	100
May Day Henna Tattoo					
May	Fee		\$	100.00	0
(Done with Traditions)					
SEMESTER TOTAL:				\$1,850.00	1512.5
			-		

#### Spring 2010- Budget for Ski/Snowboard Club

Returning Members: 250

This is our eighth semester in existence and our seventh semester requesting for a budget.

The purpose of the Bryn Mawr Ski/Snowboard Club is to share the love of a sport that students can participate in for a lifetime.

This will encourage a healthy attitude, physical fitness, and decrease stress. This sport can be very expensive; we hope to slowly build an inventory of equipment for the members to use and subsidize the cast of trips. We plan to do this through seeking donations of used equipment from community members and with the help of the funding we receive from Bryn Mawr.

We have had four very successful ski trips; the attendance at these trips continues to increase and the community's response has been very positive. We are now in contact with a variety of mountain travel agencies which have offered us many opportunities; we hope to soon participate in these opportunities through increased funding, fundraising, and socials. Our trips involve all Tri-Co students, post-bacs, BMC faculty, staff, and their children! Advanced, intermediate, and beginner individuals have all been responsive to subsidized ski trips that make these winter sports available to everyone, regardless of their economic background!

#### Contact Information:

President: Zoe Odenwalder, zodenwalde@brynmawr.edu, 720.339.5544

Treasurer: Katie Sun, ksun01@brynmawr.edu, 630.977.9115 Swarthmore Representative: Dan Stair, danstair@gmail.com

Vice President, Secretary, and Haverford Representative still needed

EVENT	ITEM		QUANTITY	PRICE	TOTAL NEEDED AWARDED	
Spring Ski Day Trip	#1- Camelback Ski Reso	ort TBD weat	ther pending			
Food (Trail Mi	ix)				\$100	100
Lift Tickets- tic	cket subsidy		45	\$23	\$1035	1035
Travel- 48 pas	senger bus rental (1 day,	13.5 hours, 25	iO miles)		\$650	650
Spring Weekend Tri	p- location TBD (Suga	rbush Ski Re:	sort), weather pe	nding		
Lodging/Lift/1	Travel (\$300)		15	\$150	\$2250	1050
Food			15	\$20/day/2d	ays \$600	600

Travel- 48 passenger bus rental (1 day, 13.5 hours, 100-200 miles)	\$650	and serious as	650
Snacks	\$100		100
Social Event #2- Mixer			
DJ	\$125		125
Food/ Drinks	\$100		100
Party Supplies (cups, ice, table cloths, etc.)	\$20		20

Total: \$5630 44

# The Tri-College Cultural Media Group

Contacts:

President: Nina Zipkin, nzipkin@bmc, 203-247-6989

Vice President: Emily Bushway, ebushway@bmc, 484-529-7822

Treasurer: Elizabeth Toft, etoft@bmc, 908-337-8338

EVENT	ITEM	Quantity Price	Total Needed	Total Awarded
Museum Trip				
March TBA	Septa Train Tickets	8 \$12.00	\$96.00	0
	Museum Entrance	8 \$15.00	\$120.00	120
Film Night				
February, TBA	Food/Decorations		\$75.00	50
Live Student Music				
May, TBA	Food/Decorations		\$75.00	30
TBA - Speaker				
SEMESTER TOTAL:			\$366.00	250